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LGS-2 — Aung sidley
Part-A — General Studies

eilarm&ser : 1-100
Questions : 1-100

1.  Arrange the following OSI layers in order
(1} Data Link Layer
(2) Physical Layer
(3) Transport Layer
(4) Network Laver

Vo @, 0,4, (B) (@), (3), (1), (4)
©) @), (3, @, D) (3), (1), (4), (2)

(E) Answer not known

Wemaumin OS] sif&ssmen aflastufisad.

(1)  svey Gevami) s{dE
(2)  susr 2iHike

(3) s_&f =BEE

(4) Beemema HH5S

(A) (2), (1), (4).(3) (B) (2), (3), (1), (4)
(C) (4), (3), (2), (1) (D) (3), (1), (4), (2)
(E) ofien Qaflweldena

= 3 GST2ZAM/2025
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2, Assertion [A] : In humans, individuals inherit Mitochondrial

DNA strictly from their mothers.

Reason [R] :  Therefore, the mtDNA sequences obtained from

(A)

S

(C)
(D)

(E)

maternally related individuals such as a brother
and a sister (or) a mother and a daughter exactly
match each other when there iz no mutation in
either of cases.

[A] is true but [R] is false

Both [A] and [R] are true and [R] is the correet explanation
of [A]

[A] is false, [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

Answer not known

s [A] D neflgfsefld  wrfud el Clrsmrerc fluse  mtDNA

gl el mmeu e LD LA TR g Glugdme
Esrardlpnrsen,

srpamb [R] @ mtDNA-aw M &riths, SGETST o fym s

(A)
(B)
(€)
(D)
(E)

sGangfaati Guor  wdegy  srd  whmd  nsefleCon

Behsmgns  s0F  wrhpk @donod gCr wrduns
Qubm&Csréararamb,

[A] & sgpemmed [R] seugy

[A] whmii [R] sl whgus [R], [Ale@parar sfiunear cllars i

[A] seum [R] oA

[A] wpgb [R] afl, syeme [R], [Alefiparar sfiuimer eflarbat Edeney

aflent_ Gatiwshldaa

GST2AM/2025 4 =



8. In IVF technique, fusion of sperm and ovum takes place in
(A) Vagina

(B) Fallopian tube

(E) Answer not known

IVF qpepmuiics eflpsemad semgpn EBenemeug Aebeamauensupfles el

e Bumidps ?

(A) Gurefls @pmd

(B)  AuBamiSuer gpm
(C) suariiiy sarL_&ib

(D) smoenu

(E) eflen Ggflwalidenss

s 5 GST2AM/2025
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4. Choose the right matches among type

The methods employed in micro propagation and improvement of

tree species are

(1) Clonal multiplication —  Prosopis cineraria

(2) Protoplast culture and —  Dalbergia sisso
genetic engineering

(3) By somatic embryogenesis -  Cupressus arizonica

(4) Germplasm conservation —  Tectona grandis

(A) (1) and (3) correct (B) (1) and (4) correct

(C) (2) and (3) correct (1)) (3) and (4) correct

(E) Answer not known

Epssam aupflao sfurar Baareaius meter (1S i sy,
&SI LT ohpb Wy Eemsamear GobuBEsn wpenp
(1)  @lerrenes Qugds apenp = YGyrGemfe MeflGyflwn

(2)  LCrm G Semmeivl sueriiily - Lréuisur fs
legoib oy Qurblullud e

(3) e eblue s e mandsn = Elreve oiflCsreflsn
(4) G Sermen Lngsniy — QeaCLmann Epmeimeeh
(A) (1) whgub (3) A (B) (1) wpgus (4) &A1
(C)  (2) wpmub (3) af (D) (3) opmib (4) &7

(E) eflen Geflweidena

THIS QUESTION AND ANSWER ARE TO BE PLACED BREFORE
THE EXPERT COMMITTEE FOR FINAL DECTSION

GSTZAM/2025 =
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Which of the following is incorrectly paired?

(i) Atal Tinkering Lab -

(i1} Krishi Neev -

(i1i) Palna !

(iv) Unnati -

(A) (iv) only

\'GQ)‘ (ii1) only

(E) Answer not known

MNurtures an innovative mindset
towards research amongst high
school students

Platform to promote technology
interventions in agriculture
Provides support service like safe
accommodation and Medical
assistance to working women
Technology platform  integrated
with artificial intelligence to match
job providers with seekers

(B) (1) and (ii) only
(D) (i) and (iv) only

Semeumeseraupfles erg gauprs Glaamianuc ferars ?

()  oiLd grsfin s —

(i) afed fa =

(ifl) v .

(iv) e ehendl s

(A) (iv) wlEwn
(C} (1) wi(ubd
(E) oflen Qpfwsiidaa

e wifleoss wdrefl  omameufsafia Fw
g prld S Esnen Lgenou e wablaaau
euaniadlmgl

el gdle @gmyfled HILU&
seauifamar sadwallégh garh
ueflyfly CuarsEndés UTgETULTET
gr@EiLh  whmh  oosge  egedl
Grimen T TE & Geaneusanar
auphEdng

Caema GaH LsunHIgELe Gauene:
eupriguestseen  GlLnmss swpens
sy T o T PN L e TR
Qemfldm LuF gemb

(B) G) b (i) o Gis
(D) () wpmud (1v) o b

7 GSTZAMZOZH
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6. Match the following :

(a) Hyvdrogen bomb 1. Unecontrolled nuclear
fission reaction

(b} Power reactor 2. Controlled fusion reaction

() Magnetic confinement of 3. Controlled fission reaction
plasma

(d) Atom bomb 4. Fission - Fusion reaction

(@ Gy (e (d)
(A) 2 1 4 3
B) 1 3 4 2
(C) 3 4 1 2

1

w4 3 2

(E} Answer not known

Slereumeenaibenn Glummiaes |

(a) en@mrEen e 1. sl@uumn g sgnssm
Sarey shlanar

(b) Sper 2 @ 2. sLRUURSEOUC L @aremay
el e

(€) Yerrevworeien snpsefvd 3. SLEUUESEILL sgmsnm

<L diamen Herey ellenar

(d) sigmuEan® 4.  migpssm Seray - Genewray

el aneur

fay (B (& (d

(A) 2 i - & 3
B) 1 3 4 2
(@) 3 £ . F 2
(D) 4 3 2 1

E) e Gsfusido

GSTZAM/2025 8 =



Which of the following islare correct about Dip-Pen Nano
Lithography (DPN)?

(i) Itis a direct method
(i) It works on diffusion through water molecules

(111) It patterns a variety of materials

(iv) It is a fast scanning process

(A) (1) only (B) (ii) only
(& (D), (i) and (i) only (D) all of the above

() Answer not known

Slereumeuamaubiies ag/eree iy Guarm sréam dlgGardymd (DPN) upd

Flnenena 7

(i) @s e Cpry pap
(1) Eis sevefrn apadsspad Uragse papan Galene GHeldng
(i) @& vaCaupul L Qurmtsefler augasemer aardng

(iv) @& em 2fCas cubsen dswdupan

(A) (1) i (B) (ii) wi o
(C) (1), (1) wpgud (1i) wi G (D) Guopsdiu senenggb

(E)  aflen Qaflushdena

] GET2AM/ 2025
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8, The primary objective of Global One-Stop Centres (0SCs)
established by Ministry of external affairs 1s
(A) Promote student and faculty exchange programme

(B) Facilitate research and development among Higher Education

Institutions

\)M Provide comprehensive assistance to women in vulnerable

situations
(D) Support Indian students studying abroad during crisis

(E) Answer not known

BEfu Gadllypald sep sennéssggre Bgaiiod easardu gm
Bpss enwnwisafien (0SCs) npsereann Cunasth

(A)  wmemreut mpgih sy fl i oferdn S ges sesEdlughars

(B) ewr sod Apewewsaile CGu oumisd oppd Gobund e
erafignds

(C) unflsstiu dmyy  spfemadsd sda Oudarseass dfaure

e gellsenar clpis

(D) Gpmésn Qe Cumy Geaeliprigd uvgsss @iy wrevarsEsss
ShETeuatEs

(E)  eflan Qaflwelldenes

GST2AM/2025 10 =



9.  Arranging chronological order/event type

Arrange the following poverty alleviation programmes In

chronological order

(1)
(2)
3)
(4)
(A)
(©)
(E)

Sampoorna Grameen Rozgar Yojana
Swarnajayanthi Gram Swarozgar Yojana

Integrated Rural Development Project

Food for Work Program

1), @), (3), @) @), (3, @), (1)
(2), (4), (3), (1) (D) (3), (4), (1), (2)
Answer not known

Bpssar flapaseea staefimsiuBsss.

Wewaugmih eumeno ity Sl tisenear srweafasiuy guoiigUGAs6aD

(1)
(2)
(3)
(4)

(A)

(€)
(E)

1]

sy e Eymben Grrevar Gumgen
cveurambiguindl dymb svauGrranat Cuimgert
qrhdamants serns euanisfls Sl

Caumwanrer eanald b

(1), (2), (3), (4) B (4), (3, @), ()
(2), (1), (3), (1) (D) (3), (4), (1), (2)
ellen. Ggflwehdana

11 GSTZAM/2025
[Turn over



10.  Assertion [A] : The lack of alternate employment, skill training
(or) credit facilities for women, is another factor

that keeps them in poverty.

Reason [R] : Poverty is increasingly becoming a feminine
1dentity.
(A) [A] is true but [R] is false
w’ Both [A] and [R] are true and [R] is the correct explanation

of [A]

(C) [A] is false but [R] is true

(1)  Both [A] and [R] are true, but [R] is not correct explanation of
[A]

(K) Answer not known

smpm [A] P Gudns@rsstar wnhn Caume amity, Spé LuGhé
Saag sd asd Qoarss setsos apencildo
aneugSlmaEh ohGlnmm &enfl i n e b,

amreard [R] @ aumeow Cgm_fhg Guereflu @ wranors e
aumdng.
(A)  [A] esmenin syarmed [R] sai

B) [A] wppid [R] @resnGud> s.ainens, [R] enigy [A] alpsven sflusrer
chlerdsLb

(C)  [Al saum gparmas [R] e aranin

(D) [A] woge [R] @rew@n e dmann e [R] eenug [Alalderer
stlwmer eflar&sih e

(E) eflen Gsfuselldana

GST2AM/2025 12 . =



: il

Article of the Indian Constitution Prohibits the
employment of children in Factories, Mines, or any other hazardous

occupation.
(A) 21A
G 24
(C) 17
Dy 39

(E) Answer not known

Ehdlu dlumaninnYem Dflay, Gamfibsramasd, &omistseT

sdag Cap o ussrer Qemfldigns  Eypagsasn  Gaeass
SIOTEHeIMES Sl Heldng.

(A) 21A
(B) 24
(©) 17
(D) 39

(E) flene Qafhuaiidienas

13 GSTZAM/2025
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12. Match the schemes with yvears.

(a) Neengal Nalama 1. 2000
(b) Manu Needhi 2. 2021
{c) Kural Mutrodhal 3. 2024
(d) Tlam Thedi Kalvi 4. 1969

ta (b)) (e (d)
A) 2 3 4
B) 1 2 3
v 3 4 1

(D) 4 1 2

(E) Answer not known

== (-

Epssrab #U diseer sihshs arLgsiie Qunmiss.

© (a) Frusdr peowon 1. 2000
(b) wey 52 2. 2021
(e} @par aphEorsd 3. 2024
(d) @eawb Gsyg sede 4, 1969

@ (® (@ (@

(A) 2 3 4 1
(B) 2 3 4
(Cy 3 4 1 2
(D) 4 1 2 3

(E) &fer GpMuehidans:

GET2ZAM/2025 14



13. Tamil Nadu skill development corporations established a new
platform by using Al Technology to guide the youth's employment

and skill training is called as

(A) ‘Inaya’

v@f Tlaya’

(C) ‘Naan Mudhalvan’

(I} *You are vour own king' Scheme
(E) Answer not known
SIHETH Spen Guobun {His apsd beubens memarbles 6sTfd msden

ppeonns @lenemighimiensm Gauma eumioy whmb fodar vdldlbdes auflsm @

SYERIOEELILIL L G GaTb
(A) ‘Gevans’

(B) ‘Gemarus

(C) ‘mrem qpgdaus

(D) ‘FCw o evdg grgn’ B b
(E) .-,-.51&._ G fusldana

= 15 . GSTIAM2025
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14. state has the highest percentage of unemployment
during the year 2022-23.

M Kerala (B) Haryvana
(C) Punjab (D) Tamil Nadu

(E) Answer not known

wrieeh  2022-28  sewslsGod@er Gung -.gqﬁ]m
Eeuenerudchan el dlad Glameam wrileaib.

(A) Csparm (B) snfluimesn

(C)  uggam (D) sSpErE
(E) dlen Gsflualidena

15. The Total Gross Enrollment Ratic of Tamil Nadu in higher
education during 2021-2022 was

(A) 45 percent (B) 46 percent
ﬂ 47 percent (D) 48 percent

{E) Answer not known

2021-2022 b saefl sypemgd sOpET e pwlh sdefld LulGGaurfen

Hwrssd Lde o d@TETE.
(A) 45 sseflfgin (B) 46 sgeflsin
(C) 47 spefldmib (1) 48 sgafldlmin

(E)  eflen Qafluefidena

11

GST2ZAM/2025 16



16.

Which of the following ecredit schemes for Farmers Producers

Organisations (FPQs) is incorrectly paired?

(1)
(ii)
(1)
(iv)

(A)

(€)
(E)

Credit guarantee scheme
Mezzanine capital assistance

Revolving fund support
Nabkisan

(i) and (iv)
(iii) and (iv)

Answer not known

Direct cash grants
Non repayable credit
Concessional credit

Initiates credit schemes

with T.N.

@7 (i) and (i)

(1) (1) and (111)

clasnisd o pugfurert sawddbarer Qaremh sodr S Rsafld ag

FeuMTE [plenemrsal L (Heeng ?

(i)
(ii)
(iii)
(iv)

(A)

(€)
(E)

SLEN B S@mreunsd &b
Bwevenrananen ppagen & Sehl
mipdh I8 - sTey

5 LI e

(1) wppd (iv)
(111) b (1v)
aflen Glafleldena

17

Eprig. e HiS
SponlE GFgEsapnuing sLsn

FENENSE S gk

HUARETE Si&Lan Fmanhs)
sLE E 1L kisenerdF

Qswdiu (LA =

(B) () whmus (i)
(D) (1) b (1i1)

GSTZAM/2025
[Turn over



17. Which of the following statements are True about features of Tamil
Nadu Economy?

(1) Tamil Nadu has 7T* highest GSDP per capita
(i1) Tamil Nadu has low industries and small service sectors

(1i1) Tamil Nadu is second largest economy among the states in
India

(A) (i) only

(B} (i) and (ii) only
\@{ (111) only

(D) (i1) and (iii) only

(E) Answer not known

gllpmrE Qurmeamsngidan Bluidysemer Liplw Glaraymb mpmsafa an

B S Ln 7

(1)  fHedugd selput wmpurasdd slppr® T-asm e wuibs B

Lﬁmﬂ

(i) sdpsmh Eepps Gzmidsda woHmb flp  Geeneus menpseend
(el s mefm (e

(iif) grdwreller eder wrflomsafa sAppE Ereriras  Guiu
'.';'Iul'r{g';,mrr:ﬁ.rrl;r#".mﬁ. L TRRTET:

(A) (i) wigin
(B) (i) wdm (ii) wr@o
(C) (ii1) wi FHb
(D) (i1) whgub (i) we Go
(E) e GsMuebama

i

GSTZAM/2025 ; 18



18.

]

Mateh the following climate conferences with respective themes.

(a) Kyoto protocol
(b} Rio Earth summit
(c) Paris Agreement

(d} Montreal protocol

(8 (b (© (d

(A) 2 g 4
(B) 4 2 3 1
T 4 e N1 2
(D) 2 1 4 3

(E) Answer not known

1.
2,
31

Limit global temperature rise
Protecting Ozone layer

Global Framework for sustainable

development

Commitment to reduce emissions

GletTaugmt sTaflena) LIBMBESTLL Sig eTibhe SESMNSLLD GUTHESS.

(a) ECwm:GLrm dedliapann

(b) MAGwn L8 = &8 wrgEn(
(c) unflde griupsdb

(d) wran fd GEpdlopenn

(a) (b)) () (d)

(A) 2 3 1
(B) 4 2 3
(C) 4 3 1
() 2 1 4
(E) eflen @sfwefleena

3 S = =

1.

]

19

g w8 datiuflene ewiamed
S LIRSS Hen
@laTen LLsudeng LITFIETESD

Hlensswiren auaridflEsmar e aserreihu

H_ L emuoon

e iflpenel HapUILEDSTEN 210 ewfli

GST2AM/2025
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19,  Assertion [A]

Eeason [R|

COP28 marked a significant milestone in global
climate action by explicitly calling for a transition
away from fossil fuels.

The Global stocktake, a key component of the
Paris Agreement, highlighted the urgent need to
accelerate climate action.

(A) Both [A] and [R] are true, and [R] is the correct explanation

of [A]

Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(C) [A] is true, but [R] 1= false
(D) [A] is false, but [R] is true
(E) Answer not known

s [A]

srranh [R]

v afldungarsafidmbs am ofass wmipsdbsren
Glevefllie wmar  senpodlenmd e asemaiu  sreofaa

pLegkamulles, COP28, gn sflul gsés ewdsdaw
BHERL_hE S

urfléy  glingssfler  opsdy edisoren (& EaTT LD
dLnklls,  sraflee planssseou  sfisoufss
Cevetmg i sausns Comaany e fsenrdss.

(A) [A] bomb [R] Brer@id e dmeno, Cugub [R] eveérug [A] @er sflwrer
dilardmommih

(B) [A] wpmeb [R] @oemin o amann, pamned [R] ererug [A] Ser sflwimar

efflen&SLben

(C) Al zaman, gamds [R] aarug saupreng

(D) [A] erebuig sauprangy, syemnd [R] eTebTLigy) & amenin
(E)  eflan GaMwafldana

GETZAM/2025



2(. The threatened species found in the Agasthiayamalai Biosphere

Reserve are

(1)
(i1)
(iii)

s
(B)
(€)
@)
(E)

Lion-tailed macaque, slender loris and great pied hornball
Rudraksh tree, black plums, wild dahman and gaub tree

Slender loris, lion-tailed macaque, black plums rudraksh tree
and green pit viper

(i) and (ii) only
(ii) and (iii) only
(111) and (1) only
(1), (1) and (111)

Answer not known

sadofluiname  oultsGeners  snoussdd  stewliUfh =g b
[@)emiSa eremane

(i)
(i)
(iif)

(A)
(B)
(C)
()
(E)

Slrumeumes @i, sudlan i Carfe, Quflu enu” gpmiendldo

(BESTTLS oMb, &muy Gemb, STCH @Dwrer, wHMID ST WID
Qindvelin Carfleny, Abssund @i, smoy Genbd, GEITEF Wb,
whnh LFamss @l eneliuf

(i) whpd (1) wiGb

(11) whmub (1i1) we Gub

(1) wipme (i) wi b

(1), (i) whpun (111)

shleni_ Glgflwellsoens

21 GSTZAM/2025
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21. Consider the following statements,

(a) Forests regulate floods and droughts

(b)  Almost 10% of tropical forests are lost each year

) Nearly 47% of forests Worldwide are tropical forests
(d) 45% of the World's forest are under protected areas

The correct statements are :
(A) (b) and (c) (B) (a}, (b) and (c)
T (a) and (c) (D} (¢) and (d)

(E) Answer not known

leeumb syflsmssmars sméda Qards,

(a)  ewamizer Gadremb whpib an’ faw GuoiiEu s ddnman

(b) @dlarm eamogpbd, Higscr 10% Qavuveie  sThHsd
L (el e m e

(c) ewQsudguh sdrar srhsaia S0 gs’ C 47% Geudiuwearaw Srpse
LD
(d) =zedldr 45% ar@aer ungenssiiu L uEHseflda e

sthwumen eybl&enssdr sramrenas
(A)  (b) wpmw (c) (B) (a), (b) whmb (c)

(C) (&) wigb (c) (I () whps (d)
(E) eflen. Qpfluelesanes

22, satellite was sent by ISRO on 1 January 2024 to
study cosmic X rays.
(A) ASTROSAT (B) Aditya - 1
(C) Chandravan - 1 \'CES Xposzat

(E) Answer not known

GewpemsCarar 1. garafl 2024 meng @eauCrr srevds
ardan sflftsener Lie Gaiupd Qumme B s@uiutus g,

(A) e Gomam (B) auwfgwm - 1
(C)  sp8rwmrer - 1 (D) ersaBumen’
(E) eflen Qsfwellchena

nl
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23. (entral salt and marine chemicals Research Institute is located at

(A} Cochin (B} Chennai

W Bhavnagar (D) Narimanam

(E) Answer not known

i o O whpb s Sprmiss Blpeand ahig sanbgerarg 7
{(A) QamEden (B) Qedrenan
(C) vaipsi (D} piflosmib

(E) dflen dsfiwehlaeme

24, (Clean Air Act was passed in the year

M 1970 (B)y 1972

(C) 1969 (D) 1980

(E) Answer not known

sdsonar smhmF s HepGauppliu L e
(A) 1870 (B) 1972
(C) 1969 (D) 1980

(E) e Ggflwelldana

23 GSTZAM/2025
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25,

Bird Sancturies

(a) Vettangudi
{b) Mayura Thottam
{c) Vellode
(d) Karaivetti

fa) (b)) (o)
(A) 4 5 2
B 1 .8
w1 3 4
(D) 3 2 1

(E) Answer not known

Sleraumid Lpeneusdr srarraLSams gen wraul L g dr QUnmssayh ;

(a)
(b)
()
(d)

(A)
(B)
(C)
()
(E)

LI ST STessTmaEnl b
GoulL ey

LALLTT Em L th

e aGemmiiy

SenTidaul_ig

(a (b
4 3 2
1 2 3
4

1

(c)

1 3
3 2
ehlem Gmfluelldiens

GST2AM/2025

(d)

1
4
2
4

(el

O X TR S §

ol O

ol A

a4

Match the following Bird Sancturies with their districts :

Districts
Sivagangai
Arivalur
Thoothukudi
Erode

DTG L M ST
Hleusrhiens

<2 Tt
RS
FBrm{R

1)



26. Arrange the following periods in order ¢

(1)
(2)
(3)
(4)

(&)
(B)

Prehistorie period
Chola's period
Sangam period

Pallava’s period

(1), (4), (3), (2)
(2), (4, (1), (3)

¥ 1), 6, @), @

()
(E)

Bermeucrih srakisanar QpanDlug afles LB igs -

(1)
(2)
(3)
(4)

(2). (3), (4), (1)

Answer not known

euEOT D& (pHULL &ranbd
GCampi Hmreob
SRS SMTaD

Leheeau T mmenih

(1), (4), (3), (2)
(2), (4), (1), (3)
(1), (3), (4), ()
@), (3), (4), (1)
alan_ GaMwiehldene

25
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27. Assertion [A] : V.0.C charged with sedition, was sentenced to
forty years of imprisonment.

Reason [R] . He attended Surat Congress session and followed
Tilak and preached his philosophy.

(A} [A] 18 true, [R] is false

(B) Both [A] and [R] are true and [R] is the correct explanation of
[A]
Both [A] and [R] are true and [R] is not the correct explanation
of [A]

(D} [A] is false, [R] is true

(E) Answer not known

sy [A] @ ee. fes  Cpss  mCrmss  Eood SOESIIL
40 pan(ser Hanpdmahm enar ehlflEslu L g

smpamh [R] @ @i wmpiised swps Qsrer@  Aasept  Qeupd
phgebos s0se.

(A)  [A] #A, [R] saum
(B) [A] wpp [R] @reniin sf, Cognn [R], [Aldr efwme ehlardELonE1Lh
(C) [A] whmn [R] @ramiin &f. Cingyd [R], [A)er sflwurer eflardsn e

(D) [A] saum, [R] =
(E) eflen Qgflweildena

28. Ishwar Chandra Vidyasagar setup school for girls at

{A) Bombay (B) Surat
(C) Lahore \LB‘). Calcutta
(E) Answer not known

Cludns@nastan’ ueaaflany maveut spdy sflgwnsnst flmedu [T

(A)  wibumi (B) @&né
(C) aomsi (D) sdsssm
(E) sflen Qaflushldens
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29. What have to be realized if yvou want to overcome the ignorance and

L]

feel healthy?
\)A{ Be awar.e and believe on the immaculate truth
(B} Duty concious
(C) Karmic Action
(D) Medicinal knowledge

(E) Answer not known

<y fmenie ssaky Fabh Gamarpnh erdlumng ?

(A) wwisbd Gseafitsy wishn e a@ranaL & aTiHd
(B) s_evwenw Glsiisd

(C) =mmo Glewd

(D) wmsgien iday

(E) dllen Daflwelldama

27
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a0. Match the following :
(a) Juatice Party
(h) D.M.K.
(c) Dravida Kazhagam
(d) Self Respect Movement

a) () (e (d)
e 1 8 3
2 4 1 3
W s 1 2 4

2

Dy 3 1 4
(E) Answer not known

shlwrer sflen_enwg Qumriss Glalg ;

(a) Bfls=c A
() H.ops
(€) dyreli i spsd

(d) swolfures Gussn

(@) () () (d

(A) 4 1 3 2

(B) 2 4 1 d

(C) 3 1 2 4

(D) 3 1 4 2

(E) e Qsflusioama
GSTZAM/2025 28
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L

1945
1944
1916
1825

1949
1944
1916
1925

11



31. The first state level meet of self respect movement was conducted at

which place?

\M Chengalpet
(B) Madurai
(C) Chennai
(D) Kovai

(E) Answer not ir.nnwn

sunflureg Gusssfen apsd wrfla serdlorer sl abs G S

BLSBLILCLGIT
(A) Qemsducd
(B) wgieoy

(C) Geemener
(D) Gamrena

(E) eften_ @sfiwelerens

y 20 29 GST2ZAMZ025
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32. Which one of the following statements is/are wrong regarding
Edward Clive, the Governor of Madras Presidency?

(A) He usurped the regime of Nawab of Arcot
(B) He abolished the poligar system

(C) During his tenure, the supreme court of judicature in madras

was founded

\}Dﬂ He did not show interest in the letter of Veera Pandya
Kattabomman stating the insult inflicted on him by Collector

Jackson

(E) Answer not known

Aeerenan wrsnarsder spErnt alarl Heverdy Eflgs Cenh@nrrsefa

g/ ETanal BalDIeng| ?

(A mwpar® paimien sgens ufigms Cenarri

(B) unaerwidsnr 8 panmeny gussn

(C) Geememils  smamn pHodpd Gasorw o Aésrasds
Hlmeudiin L g

(D) sQma i grdses, sormen SeuonaIUREHEA L sE  Sruraricw
sCLGumbodr  spdlu sasfhE  elan.  deed asyieb

sl LeHebena

(E)  eflan Qaflwaflamea
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33. Choose the right matches.

(1) Bankim Chandra Chatterjee — Anandmath

(2) Lord Minto — Madras
(3) Swadeshi — VOC
(4) Lala Lajpat Rai — The National Council of
Fduecation
W (1) and (3) correct

(B} (1) and (2) correct
(C) (1) and (4) correct
(1)) (4) and (3) correct

(E)  Answer not known

silurer Qummmbsseng Sebm(Hibly.

(1) uado spfly smred ~  ZEThE LD

(2) SewrGur Gy —  Qeeramar

(3) &Csd - aaed

(4)  comevr cogpLidl rmds —  sadlssman Gl spaibh

(A) (1) whgub (3) o
(B) (1) mppue (2) &
(C) (1) whpub (4) =f
(D) (4) wppib (3) &
(E) dile Gaflusiidena

= 31 GST2ZAM/2025
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34. Match the following :

{a)
(b)
(c)
(d)

Madras Medical School

Madras Presidency College

Madras Christian College
Pachayappas College

(@) (B @ (4

20 1 4 3

@z 4+ 1 3

(©)
(D)
(E)

2 4 3 1
4 3 2 1

Answer not known

Slereugmeuamaherml bunnsss :

(a)
(b}
(c)
(d)

(A)
(B)
(C)
(D)
(E)

@il ey wiEsseil L
Qo gree ArfQ el sdgml
Qo gy &flevgieus sdgn

LI&Fen 1L LCILImE a;ng;jlﬂ

fa) (b)) (e} (d)

2 1 4 3
2 - 1 3
2 ! 3 1
4 3 2 1
ehlen Qg flweflsenan

GST2AM/2025
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1837
1835
1542
1840

1837
1835
1842
1840



35. Who among the following was appointed as the Zamindar of
Ramnad by East India Company in the place of Muthu Ramalingsa

Sethupathi?
\(ﬁd’ Mangaleswari Nachiyar
(B) Maruthu Pandivar
(Cy Raja Udaivappa Sethupathi
(D} Raghunatha Sethupathi II
(E) Answer not known
Epsem autsefla  apsgrmodins  Cegufim  ofars  Apss  @pdw
sh@ueiurd gmoprlwen wplarsmrs BuddlssouC sl wri?
(A)  wiisCasuafl mrsfwimt
(B) wms urasiguw
(©) g e-enwiu Cogid
(D) Erer_mb pEgprs Gagud

(E) ofan Qsflwsbidensy

T
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36. Head the following Assertion and Reason and choose the correct
answer from the code given below.

Assertion [A] : Anwar—ud-Din, the Nawab of Carnatic sent an
army to fight against the French in 1746.

Reason [R] : Dupleix, the French Governor, failed to keep the
promise of surrendering Madras to Nawab after
1ts recapture,

Code :

(A) [A] 18 true but [R] 1s falze

@" Both [A] and [R] are true and [R] is the correct explanation
of [A]

(C) [A] 1s false but [R] 1s true

(D} Both [A] and [R] are true but [R] is not the correct explanation
of [A]

(E}  Answer not known

Glemaumih  sapesmuh, srpemdengupd Lgdss  AGp  Csr@ssu {een

il g ellimbgy sflwren uflerang BotbClsHibseay b,

e mflwren sapp [A] @ sfEr_svellen L] T T e_gAle
Sl rgpedanrisener erfligmn CGumii_ 17464 gm
LGN L 6Nl SIgln ammi.

snyenrd K] : oo’ grdy ensOuhpin’ L GmE s sl
guuel UGuer  aemp  endmmPews  Gngs
seutantt BlennGeudng seufiehl i,

G&HSE -

(A)  [A] #fl e [R] moug

(B) [A] whpi [R] Srewiih &M, Gogub [R] eewug [Aler sfwmes
chlar&aibh

(C) Al seugy spemen [R] &

(D) [A] wopw [R] @rewipon &6, oeme [R] aaus [Alaer sfiumar
dilarésd ee

(E) sflan BafMusiiaan

GST2AM/2025 " 34 =



a7

Matech the constitutional amendments to their corresponding acts

correctly.
Amendment
(a) 91t Amendment Act 1.

(b) 1020 Amendment Act 2.

(c) 105%™ Amendment Act 3.

(d) 106 Amendment Act 4.

(@ @® (@ (@
(A) 1 4 2 3
(B)y 2 1 3 4
(C) 4 1 3 2

1 3 4 2
(F) Answer not known
T A TWENT T TR T

&l (1R 55 Tl Rl
FUL BisEnL sl sflunsd Eun@ﬁ@rﬁjﬁm.

Hem il
(a) 9lagpay drmses scn 1

(b) 102.geum £miss &b 2.
(¢) 105.eveum Hmgss sb 3.

(d) 106.sceug) Hirdss 500 b 4.

(@) ® (© (d

(A) 1 i % .8
(B) 2 T B
(C) 4 Ay 9
D) 1 g 4 2

(E) &flen Gaflusiidama

Subject matter

The council of Mimisters must
contain no more than 15% of the
Lok Sabha members, including the
Prime Minmster

Women are given one-third of all
seats in the Lok Sabha

It grants constitutional status to
the National Commission for
Backward classes

The state government is empowered
again to identify and specify socially
and economically backward classes

seupfler  Gemofiesw - Bimiss
(ol LimimRaTL_&gih

S @LDFFTHGT (Silpehlc g ioi

LUl wssaraed  ogprindlanisato

15 efljpasniam G Emsssm g
ndsarenauile  Quenserdm  ppemila
g Lirkigg @ kEdT euLpras i
g YpuBssiuce a@lSenmesTar
W stenennubdlDE T uaanlug
s ilenara suypkims Dg
FADE Wb GummemmsTrHdld
angrdll el larers  sarlbbal
%ﬂu@@m aflermn  wrBla  SrFSE
= (IR TT AT M TN G

GST2AM/2025
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38. Which of the following statements is true about Woarld Tamil
Diaspora Day?

(1
(11)

(1)

Ve

(B)
(©)
()
(E)

The Chief Minister of Tamil Nadu declared January 12 as
World Tamil Diaspora Day

The Diaspora Tamils conference was successfully held, with
the theme of ‘we will win'

Hs. 5 crore has been sanctioned for the establishment of Tamil
Parapurai Kazhagam to teach Tamil to Tamils living in foreign
countries.

(i) only
(i) and (iii) only

(i) and (ii) only

(11) and (iii) only
Answer not known

2 asf D YabEuwl prar uhilu Geévambd mppsafia og o arenn

(1)

(ii)

(iii)

(A)
(B)
(€
(D)
(E)

gllips apse@osst seursdr gaafl 12-m 2 as yeb@uwl sblpi
Hemons osfilafldamt.

B GeueGaumiy’ eramp smOGEUnREn e yanbQuwi slpisdr wrmmE
HAmdurs penLGluhng.

Qausfiprpiseiley aurpd gllpisErses slp sbdss sfpd Lriysy
Ss0 Ss@ulugbe m. O Gemg gusd® eiwiiu Heaeng.

(1) o0 {Hib

(1) whmd (iii) wGe
(1) wimed (ii) oG
(11) wehmd (ii1) wi {Hb
efilem_ G flwefldiens
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39,  Which of the following is correctly paired?

n

(1) Manjusha Kanwar

(2) Vineet Kumar Sharma

(3) Kavitha Selvaraj
(4) R. Vaishali

(A) (2) and (4) are correct
M (1) and (3) are correct
(C) (3) and (4) are correct
(D) (1) and (2) are correct
(E) ﬁnswer_nnt known

Badminton -
Cheszs
Kabaddi -
Hockey

BpaCarfaesoo Lapme Gurmssworar @enareniis Gaiblsiaseb.

(1) wegrsegT Sanaf
(2) dilaf&swort agman
(3) seflsr Gedanmg

{(4) R. evcuagre

(A) (2) wpgin (4) &A
(B) (1) g (3) &f
(C) (3) womm (4) s
@ (1) wpgpb (2) &
(F) efer Gpflucldens

BmEL LbsmL 1D
FEUTRIELD
LIRS

&l

a7 GST2ZAM/2025
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40. Match the following :
Schemes
(a) Naan Mudalvan
(b) Pudumai pen
(c) Vidival Payanam

(d) Makkaludan Mudhalvar

(a) (b)) ()
(A) 3 1 1
JBr4 a2
(C) 1 2 3
™4 1 2

(E) Answer not known

Cummsss.
1L rusar

(a) mmem apsdeueT

(b) ymeewd Guer
() ehligwe wwemmh

(d) wésen e s

(a) @ o)
(A) 3 4 1
(B) 4 3 -
) 1 2 3
(D) 4 1 2
(E} e Gsflwsfldeane

GSTZAM/2025

(d)

03 e = b3

(d)

2
1
4
3

38

Beneficiaries
Publie Grievances gets resolved
Women Empowerment

Education Assistance for Girl
Students

Skill Development

Liwenmaflser

Gumg wssdr  Genpsdr  @Edeomod
SiaaliLfeugy

GlL eraignds 2 flanyoefigsd

el Si@n s, sded
e gsellwall iz

Smen Gubum(R

T



41. Find out the correct statements about the functions of
District Collector.

(1)
(i)
(iii)

(4)
(B)

He handles work pertaining to civil defence
He supervises the Municipal Administration in the District

He presides over the District plan Implementation Committee

(1) and (1) only
(ii) only
(ii) and (iii) only

P (. (i) and (i)

(E)

Answer not known

wira L s Sluflar vaflsd Qaroiuren Sbssar. smppssefld sfluraaa

erene

(1)
(ii)

(ii)

(A)
(B)
(C)
(D)
(E)

1

el G el Lngstiiug Seriuner ueflsamer CuopGlsrdadpr,

1= g 1o Womg 1 g e @ derm BSTLILD ey rEsens
Coduriensuusifl prf

S orent Bl Qswiaéss Hpaenend  saradwGubn
aufinLggdprt

(1) whmib (11} wi G

(if) oG

(i) ippud (111) wr Gub

(1), (i1) wpgud (111)

alenL Glgfwellcvena
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42, Select the “odd one” out.

Consider the statements below regarding the advantages of
State Industries Promotion Corporation of Tamil Nadu (SIPCOT)
Limited.

(A) It creates and maintains well-designed industrial parks

(By It facilitates the acquisition of land for industrial purposes for

business
(C) It serves as a single point contact for investors
~'(ﬂf It provides a range of loans and free electricity

(E) Answer not known

setligs Sapubil gaans Gefla; delis.

sllpsrg sirs Gamfld gppanCanhns spssbdar (Alsnl) pearennsd L
B3 e drar siflémssanars saiaflurisd,

(A) @& pang agasnssiul L Gsmiosan yhstésser o meansd
Ll m g

(B) Qsmfio Spcaisgssts fososs osusiufssusis B
2 peydng

(C) eV Qp,-zsnfl.'_l_rrmfra;qggs{g} ghenpsd Casmoiyl ydreflumes Qauﬁ;uq}ﬂm@
(D) Ea veCan seraeanyn, Gaws Wersrrhamsub ﬂllkprh@;.ﬁmgj

(E) sfen. Gsfuchdma
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43, Assertion [A] : The Chief Minister of Tamil Nadu has ordered

Re. 5 Crore to translate all works of
Dr.B.R. Ambedkar.

Reason [R] :  The translation works of Dr.B.R. Ambedkar into

Tamil will be earried out by the Information
Technology and Digital Service Department.

m{ [A] is true but [R] is false

(B)

(C)
()

(E)

Both [A] and [R] are true; and [R] is the correct explanation
of [A]
[A] 1= false, [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation
of [A] is correct

Answer not known

sagmy [A] D abCuisflar simassl ven Cgsaenyb GlomfEduwiés

m. b Gsng auphis sllps wesdal 2 hgrell fidremm,

smpamb [R] ©  ssad Qanfd mlod whph ggicd Gsaesdr g

(A)
(B)

(C)
(1)

(E)

fLpaiLd =2 bGLbsflen LenL LISl Sl fleb
QeomlE L rssl UL, earers).
s [A] #7, semé strembd [R] saum
smpm  [A] ohge smembd [R] @rem@id &M whpe  smpeond
[R], [A] sbpée sfurer aflarssn
gamipl [A] paum, smremb [R] s
smpp  [Al wipd swend  [R] GrewBib M, semdr s
[R], [A] sabmide sfuner efleréswndea eranug sfiunang
shlan Qefual dena

41 GST2ZAM/2025
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44, The power of the municipality to suspend (or) abolish tax is

conferred by
(A) Section - 110
(B) BSection— 111
\,(6} Section — 112
(D) Section - 113
(E) Answer not known
i auflaw BésCar sdem fpsdecssCanr pam fas sdermb
aphigh #LSReurang
(A) Gifley — 110
(B) JAfley—111
(C) Gfla;—112
(D) Sfley— 113

(E)  eflean GQafuesdens
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45.

Assertion [A] @ A secretary should be immersed in files and

burdened with routine

Reason [R] : It 18 essential that he should have time to grasp

the overall picture, size up the problems facing

the Government

(A) [A] is true but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanation
of [A]
V«S [A] is [alse, [R] 18 true
(D) Both [A] and [E] are true, but [R] 1s not the correct explanation
of [A] 18 correct
(E) Answer not known
spp [Al P @ Gewemert  Gamouysefld  pms  whpb  BiE
cuLpEEILTET Senownsayh B mbs Cousmiib.
srpamib [R] @ spsrassdle @l @Gorss s Aseerun. afrGsmenemb
pssenenmenamin  semellPeughE  SeuR&E  &meilb
Bmoug saflub
(A) [A] #fl myama [R] e
(B) [A] wpmid [R] @rerpun 2f: wpmis [A] &s [R] sflwrer slendainmsgin
(C)  [A] seugy, [R] #f
(D [A] wonue [R] @raaiin =0, meamd [A] &g [R] sflwrar sflendsinea
eremLigy &1
(E) eflen_ Qaifliebicoans
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46. Arrange the following committees in chronological order.

(1)
(2)
()
(4)

(A)

G.V.K. Rao committee
Ashok mehta committee
Balwantrai Mehta committee

L.M. Singhvi committee

(2), (3), (1), (4)

H 3.0,0,@

(€)

(D)

(E)

(4). (), (1), (2)
(1), (4), (2), (3)

Answer not known

Hemumih @psseanar sraaflasliug aufl@siuBags.

(1)
(2)
()
(4)

(A)
(B)
(C)
()
(E)

G.V.K. T (&P
Gsnd Cuogsm @i

LeeubsImi GOSST G0
L.M. fruafl amop

(2), (3), (1), (4)
(3), (2), (1), (4)
(4), (3), (1), (2)
(1), (4), (2), (3)
aflenL Qs fwehldana
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47.

Choose the correct answer :

Which of the following statements are true about the Couneil of
Minister's in State?

(®

(ii)

(121)

(A)

()
()

The Council of Ministers shall be collectively responsible to the
State Legislative Assembly

The Governor shall administer the oath of office and secrecy to
a Minister

The salaries and allowances of State Ministers shall be
determined by the Union Legislature

(i) only correct \{{) (1) and (ii) only correct
(11) and (n1) only correct (D) (1) and (111) only correct
Answer not known

shlwmes eflen_eniug Cxray Dalis

Heraumb eunddunisats wrfle somuFsrsdr upfiu sfurar s pseans
Gatay Hel.

&)

(1)

(iii)

(A)

(©)
(E)

wrfler  eyemodsisdr wrfled sl oapddieds &l mad
(al Lam 1R wiu reir

wrfler enssrsiensE Sempt satsd Freflu sriy ohpon uge
‘dmomenih Heiig eyl

wrHler emwisisaian Grwdiemadr sgessar whimb Gp Ugseaner
wdHuw Lmymgnarn G STuoraflsEn

(1) wifib s (B) (1) whpns (11) =7
(11) inhgyet (1) =i (D) (1) inpguh (1) #A
eflen Gaiwelldena
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48. Consider the following statements about the composition of the

House of the people.
‘)m It shall be composed of not more than 20 representatives from
the Union Territories

(B) It shall be composed of not more than 2 members of the

Anglo-Indian community, nominated by the Prime Minister

(C) It shall be compozed of not more than 552 representatives of
the state

(D) The President shall nominate 12 people having special
knowledge in Literature, Science, Art and Social Science.

(E) Answer not known

wdsereneuuilen =sepwoiy upBlu  Gemeumib syfliassener Linds  sflwmen
ehlemdsians G&ihblsfhs&sah.

(A) Bla eenhu ﬁ.l_ﬂu vgdlsaiar @mbs 20 Srdflfsenss Ssmod
&) (ke Sevaor{pin

(B) @ Gygomrd  fulfssiupen sadCar-Eidudr  spssder
2 e muRenirsenss Blenined &més Geusfih

(0} @& wifledsalsn  G@mps 552 drffdsessg  Sewa  @oss
(St (HiLd

(D) @esdlwn, sflefud, soa wipl saps sflcludds Apdy ywew
Gupm 12 purseer woLnsssamaat Lfikgenriumi

{E'__I silenL Glgflualldena
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49. Match List-1 with Lizst-11 and select the correct answer by using the
codes given below the list.

1

List — 1 (Writs)

(a) Habeas Corpus
(b) Mandamus
(c) Certiorari
(d) Quo Warranto

@ ® @

4 3 2
(B) 2 & - 1
(C) 3 4 1
D) 1 & B

(E) Answer not known

List —IT (Literal Meaning)

By what authority
To be certified

We command

To have the body of

R e e
R AR TR

(d)

b B La =

EpCerpastn Geer  wlgwd I opgd I-&@ edeapeap sfurs

(Lo m &,

W |
(1B premene )

(a) oy Ganamtal B
BLimmen e

(b) Qaugupsgins £E

LT TG0 T

(e} Qpflopenn 2 mighgsih
Guienes

(d) apans sflemaib
U mTenem

(a) @®m (o)
(A} 4 3 2
(By 2 4 1
a3 4 1
Dy 1 B! 51
(E) chlen_ Gafwushldme

Ui g 11
(Bmmg. Qumgmer)

1. agsmsw gEd o flaw

2. swdrpediiy
3. spenantidhise

4, gh puar gtufsssd

(d)

oo B s B
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50. Which of the following statements are true?

(i) Parliament is empowered to constitute a High Court for any

Union Territory.

(i) Of all the Union Territories, Delhi does not have a separate

High Court of its own. «

(i11) Arunachal Pradesh and Mizoram became fullfledged states in

1987.
(A) (ii) and (iii) only (B) (ii) only
(C) (i) and (ii} only \ﬁﬁ (i) and (iii) only

(E) Answer not known

Wemamll snhmsafld sfluraemausdr aranau s

1) apr e welluda AGsesdbare swrffodpinms sasiugpare
gl mrrEens Lngmesnarni Gluihmdrens .

(1) sevengzy  welluer  OGrsensenssn, OLaddsh  sallu
e wrfEndmb (@) dana. |

(1) espemndse GyGssb whmb S3erpn 1987 syanh apup erelld

wir Heeriser o
(A) (i) wdmed (111) o Hun (B) (i) wfpip
(C) (i) ehmn (1) wl@b (D) (1) whmib (i1} ol FBb

(E) <fleo Qafusidena
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51. In which of the following cases did the supreme court hold that

“The preamble is an integral part of the Indian Constitution™?

(44)

Shankari Prasad case (1951)

‘U(,B( LIC of India case {1995)

(C)

Indira Nehru Gandhi case {(1975)

(D) Maneka Gandhi case (1978)

(E)

Answer not known

s supsdld oisffuwamh “Bidu srflucenidr  opdrgiens

sl weven ol Qe midlenanis Lsdl eremy S0 euphidliog

(4)
(B)
(©)
(D)

(E)

stusfl Gneng aupss (1951)
o284, apss (1995)

Bsdrn Goes s1kd aipss (1976)
Guoersr srid aupés (1978)

eflen g ihwehlshena
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52. Arrange the following events of PCR in the correct order of

OCCuUrrence

1. Annealing

2.  Extension

3. Denaturation

4. Gel making
(4) 35,4,2,1 (B) 1,2,3, 4

€) 2,1,34 \peﬁ 3, 1,9, 4

(E) Answer not known

Seraumh PCR—en flspeysenend sflwrer suflensiivig sienwdsayib.
L. ugardu@sss

2, alfleuen g

3. Guay Guss

4, Gmer swrilsd
A 3,421 (B) 1,2, 8, 4
() 2,1,3,4 (D) 3,1,2, 4

(E) &lene Qaflweiidens
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53. Why was the My Scheme Platform introduced by the Government of

India?

{A) To provide online shopping for government products

\gﬂ‘)/ To allow users to discover eligible government schemes based

on their demography
(C} To give citizens free access to educational resources
(D) Tao help people apply for government jobs across the country

(E) Answer not known

My Scheme @mm@mm aretn Gy rerd syflopstiuBssiu L ?

(A)  =irE gUNTOYSERSES Semeneoe aemlilin uphissd

(B) uvwerisd shsaflear wasalbsreas siglive e seduren s
_&Ll_ruaiﬁrw Fetm LDl B g Ll LILIg)

(C) wulossiends sdel aueriisenen FeeUsONS GL L EHdD

(D} FE.FI’I:;E- apupeugib  odren  mypenhs  CealeasersE  elldmanfssn
IDEHEHHG 2-FaEw

(E)} sllenL Gsflueiidamen

e 51 GST2AM/2025
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54. Match the following :

(a)
(b)
(c)
(d)

Conjugate vaceine

Toxoid vaceine
Killed vaccine

Attenuated vaccine

(a) (b} (@ ()

(A 3 2 4 1
JEy 4 43
(C) 4 3 2 1
(D) 1 3 4 2
(E) Answer not known
GAummigs :

(a) Bevewr sHoyd

(b) Crégeundi® sEHCILS

(c)
(d)

(A)
(B)
(©)
(D)

(E)

Tametaiu’ L sEL#

S T TR TP TRR A 1 (< TWTHY.

(@) (b)) @ (D)

8 & a4 1
2 4 1 3
¥ BB 1
1 8. & 2
dm_ Azfusidme

G3T2AM/2025

22

e 0B

o BB e

Polio
Hepatitis-B
Measles
Diphtheria

Elarerenar aunsih
G ianyau-B
S L ihanin

110
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55, Which plant was recently genetically engineered to help combat

6.

climate change by absorbing more CQ,7

(A) Rice (B) Soya bean

J2f Pine Tree (D) Corn
(E) Answer not known

9 emaymasraipmier erhss greaurbd, aifls CO; o flgrsd Snaidr, sreaflan,
wrbmésGarE Gurmrh euasubld wqugy wrpmb Qe g ?

(A) =f& (B) Gemunm Selr

{(C) enuew wHb (0} Gamemb

(E) eflen Qsfwehleana

Grape cell cultures are rich in

(A) Anthoxanthin {B{. Anthocyanin

(C) Pyrethrin (D) Taxol
(E) Answer not known

Arm_ms Qsd el ag Baphadreng ?

(A)  spGamenhsler (B) mpGarsuaticn
() epulpgdien (I Lrasre

(E) eflen Qafiweidma
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67, Assertion [A] : Acid rain means the presence of acids in rain

water.

Reason [R] :  Atmosphere contains oxides of nitrogen and

sulphur produced by combustion of fuels,
(A) [A] 18 true [R] is false
(B) [A] is [alse [R] is true
(C) Both [A] and [R] are false
\93( Both [A] and [R] are true and [R] is correct explanation of [A]

(E) Answer not known

safpgy [Al D daonep ddug weapbt sfs swles sdreoyd
ﬂ.:ll_lrrgﬂﬁuﬁ,
grgamd [R] @ erf@ummsener erfilugnd eeflosr b spcyger whmib

shsspdlen SpaenanHaaner Camer(barg.
(A) [A] = [R] geugy
(B) [A] s [R] &
(€) (Al wopic [R] @ran@Gio saug
(D) [A] wpmd [R] Gren@CGo #f [R] edag [Alés sfurer aflerdasin

(E) dfienL Glsfucidame

GSTZAM/2025 34
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58. Which of the following is incorrectly paired?

(i) Silicone rubber —  inert to body fluids

(ii) Plasticizer - make plastics brittle

(i11) Laminate —  blend of adhesive and adherend
{iv) Filler e improve mechanical properties

(A) (1) and (iv) only

49( (1) only

(C) (1) and (iii) only
(D) (i) and (iv) only

(E} Answer not known

Hereymaemaiifle ag seumrs @lenamdsiiL Bdreng ?

1) HelGsmer ot — el d Areis@sler slemenyflung
(i1}  Semevigengsi — Gpdflenw 2 wé Geiwh

(i) GendlGer - A8& uppib glysefian swma
(iv) Blyng - Pupsy vdryseer GuobuiBss

(A) (1) pppad (v) e Gib
(B) (i) wi @

(C) (1) whgud (i) weFo
(DY (i) wpgn (iv) w Gib

(B} eflen Gamiflwehlsiena

GSTZAM/2025
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58. What 15 the theme of “World Space Week 2024", eelebrated from

October 4t tp 10tk 20247

W Space and chimate change

(B) Space and energy sustainability
(C) Women in space

(D) The moon : Gateway to the stars

{(E) Answer not known

2024, =4Gimut 4 opser 10 wenSorer g aunrsdld ahs &b malean
2 Uen i "o e alarCeuatl aurrih 20247 Qararem_Gud g7

(A)  darGeuel whgh sroflea witpd

(B) eflanQash wpgib syppd Pevwssdrens

(C) sflentdeuatiuia waafin

(D) dlar: plssdyhimafer aumdlid

(E) «Sen Gaflualldena

i
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60. Which of the following are incorrectly paired?

(1
(2)
(3)
(4)

(A)
(B}
(€

(E)

2016
1992
2013

1589

The Rights of Persons with Disabilities Act
Mational Trust Act

National Food Security Act

Rehﬂbilit;atiun Council Act

(1) and (3) are incorrect

(1) and (4) are incorrect

(2) and {3) are incorrect
\[,E{ {2) and (4) are incorrect

Answer not known

SeameuheuareubmieT aenas geumnsl Hummpss iUl e

(1)
(2)
(3)
(4)

(A)
(B)
(C)
(D)
(E)

2016
1992
2013
1999

wirih s perrafilser e fepnsdr 50110
Caflu sipsslLmar sl
Caflu pama) UTHSTULSF UL LD

-I_;ﬂrﬂ'-mn parf Depé SLLLD

(1) wihpeb (3) seuprenaney

(1) whmb (4) geupreneane

(2) whmb (3) seupreranas

(2) whgb (4) geuprarena

ahlen. (s flwehldeanea
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61. Under POCSO Act 2012, any person who fails to report an offence to
the police shall be punishable with which of the following?

(A)
(B)

<

()
(E)

imprisonment upto six months

imprisonment upto one vear and with fine
imprisonment upto six months or fine or both
imprisonment upto three months

Answer not known

POCSO & b 20126 8. ehs qom pumh G shngams smeud genpudi b
yanyailésg seflamd, Gdaramaerabila «sand samgssiufeunt

(A)
(B)
(C)
(1)
(E)

b wnshsd cuay Fanm S ene

1 augpeih Slamp gam_anal whmib SugTsbd

6 wrghisdt aanr Haop san e Sidag LUTTED Sdag Braniib
3 wrshsd cuar Heom st anan

shlen. Glafwehlidamea

62, In which yeﬁr the Scheduled Castes and Scheduled Tribes
(Prevention of Atrocities) Act was passed?

WO
©)

(E)

15989 (B) 1987
1986 (D) 1985

Answer not known

S L sueheRlUUESSEOILC L snfser  whmil Lk ulleri -:au_[ghﬁ'lmrl!mm
SOy sl b eThs e Swbmiuc g

(A)
(€)
(E)

1989 (B) 1987
1986 (D) 1985
aflen. s fwalilibena
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63.

Assertion [A] : Modern education plaved a ecrucial role in

smashing the chains of social oppression.

Reason [R] . Lack of education among marginalized groups
restricted them to do low occupations.
(A) [A] is true but [R] is false
yﬂuth [A] and [R] are true and [R] is the correct explanation
of [A]
(C) [A] is false but [R] is true

(D)} Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

s [Al L osas gl@Esgopendar shdfldlsamar pean Viufld  melen
sddlapap padu Lkl audlsdng.

srpamd [R] @ srpgsoull  wéselleoGu  stamou@l  sdelddran
euirgener gmphs Garflasamer GuopQandrard Qeldng.

(A)  [A] #fl syemrer [R] soup
(B} [A] wpps [R] @rariid &0, [R] ererug [A] Gen sflwnar efengsib

(€ [Al s garned [R] &A

(D) [A] cime [R] EreniGn =M siemd [R] aeus [Al@a sflumer
ahlgT&sih Sjebha

(E) <flen. Qasfwciidena
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64. Choose the right matches among types

(1) PMSSY =

(2) NTEP -
(3) NVBDCP =

() JSSK .

(A) (2) and (3) are correct

\[.Z'r (1) and (3) are correct
(E) Answer not known

Pradhan Mantri Swasthya Suraksha
Yojana (Prime Minister Health
Protection Programme)

National Tobaceco Elimination
Programme

National Vector Borne Disease Control
Programme

Janani Shiksha Suraksha Karyakram
{(Mother Education Protection
Programme)

(B) (3) and (4) are correct

(I (1) and (2) are correct

Epsar_eubfld erg sflums Gummsfluydreng o

(1) PMBSSY -

(2) NTEP =
(3) NVBDCP _

(4) JSSK -

(A) (2) Wi {3) siwrerene
(C) (1) omub (3) sfunameana
(E) eflen Qpfluehaeme

GST2ZAM/2025

Pradhan Mantri Swasthya Suraksha
Yojana (Prime Minister Health
Protection Programme)

National Tobaeco Elimination
Programme

National Vector Borne Disease Control
Programme

Janani Shiksha Suraksha Karyakram
(Mother Education Protection
Programme)

(B) (3) wpgid (4) sfiurarea
(D) (1) whHpb (Z) sfwmarene



65. With reference to ‘Chief Minister's Breakfast Scheme'; consider the

following statements.

(1)
(2)
(3)

Thiz scheme has been started by the Tamil Nadu
It will be implemented in all Primary Schools in the State

This scheme is a Pioneer Scheme 1n India and model for others

to emulate

Select the correct answer using the code given below :

(A) (1) and (2) only (B} (2) and (3) only
W (1) and (3) only (D) (1), (2) and (3)
(E) Answer not known

‘nnsdeafler stee ceara £l on ubflu Eilogodn deramb sflsmeaus
SwuentliL e,

(1)
(2)

(3)

@5 S slpET g Gemksiu g,

wrblen s Sl e drem “Henend s g s uerafl safigyib (@)
GeudLBEscnFLD,

EBEs S @iduradd g apanGarmg Sl b mpmib whoeisdr
Wleruhmeusie pesmoms i mgin.

&G GarBasiuc L @bl e uwsufss sflurer daa Gatbllsbdsa) b ;

(A)
(€)
(E)

(1) whmib (2) wfb (B) (2) wpgnbd (3) wifib
(1) whmd (3) b (D) (1), (2) whms (3)
ehlenL. @afwuehdanc

61 GST2ZAM/2025
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66. What is/are the primary role/s of the Chief Minister Dashboard in
Tamil Nadu?
(i) To provide tourism statistics
(i) To monitor government department performance

(iii) To manage health care services

@A) @) only

G (i) only

(C) (1) and (1) only
(D)) (1) and (1) only

(E) Answer not known

SINDET g angibeul Lmeslurigen apgenainl Uiy oeman
(i) sppers gepdea Ldrall clauriismas smes
(i) = mEpaeien auhunfsmeand e e T

(itl) s&rgrré Cramsmar HieudliLg

(A) (D) wipn

(B) (i) e

(C) (1) whps (il) wGid
(D) (i1) ngmys (1i1) we @i

(E)  &ilen GQaflweildbanss
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67. Assertion [A] : The Demographic transition waries between

Districts.

Reason [R] : The districts of high economic growth attract

larger population.,

(A) [A] is true [R] is false

(B) [A] and [R] are true but [R] is not the correct explanation for
[A]

(C) Both [A] and [R] are false

.@( Both [A] and [R] are true and [R] is correctly explaining [A]

(E) Answer not known

shm [Al  wmeul L iiselen G ins&sdr Hgrens wrhpn GeuguhEmg.

smpamn [R] ¢ swdls GQunmermany aertddl Garem wnman’ | sisdr uydls

in&Eenen FriTddemyar,
(4)  [A] of [R] peum
(B) [A] wppd [R] =M, gyema [R] aenuig [Alees dlarsscsldana
(©)  [Al wppid [R] GrawGin seum
(D) [A] vppo [R] oM. vppo [R] adug [Alwa sfluns dassdpg
(E) eflen Gasfluciidama

- = 63 GSTZAM/2025
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68. Which isfare the feature/s of Tamil Nadu Agriculture Budget
aschemes 2022-23 is true?

(1)

(2)

The Chief Minister's dry land development mission targets
irrigation dependent crops

The integrated farming system promotes crop cultivation with

livestock rearing

(3) Traditional paddy varieties are preserved under Nel Javaram
Mi=sion

(A) (1) only (B) (1)and (2) only

@ (2) and (3) only (D) (1) and (3) only

(E) Answer not known

2022-23 b myargpares slpEnE Ceermdmens L Qg S disefen
2 hersafie Hearamearaufila ey 2 smann o

(1)

(2)

(3)

(pgaannksfier sfle fla CGoour @ Euéssd Bilunsend sriks
uulirsener @lassnss Ceram g .

eohdananhs  udreenr gpep LUlF  sTELGULEr  sTdmenL
euaTmianuwh Herem gz

GEer Ggurmoer Fussb  ppawers  urpbufio QEd  stlengsenar
LITGIEmES6

(A) (1) o (B) (1) wpmud (2) wi @b
(C) (2) wpgb (3) vl G (D) (1) wipgud (3) w G
(E) &fec Dsfludideaa
GSTZAM/2025 6 =



69. Tamil Nadu's GSDP g'mwth rates were 8.13% in 2022-23 and

(A) B.18%

1 8.23%

()

(1)

(E) Answer not known

8.28%

8.33%

% in 2023-24 at constant prices.

gflpmriner GSDP  euertésd oflflgn Bevcowren cldgsdie 2022-23&4

8.13% syman 2023-2440

()

(B)

(©

()

(E)

8.18%

8.23%

8.28%

5.33%

sflen GlEfweHdenso

%0 psayd Grbss.

GST2ZAM/2025
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T0.  Which of the following is correctly paired?

(1)
(2)
3)
(4)

(A)
(B)
(©)
(D)
(E)

SDMA -
SFDRR -
SDMP -
NEOC -

State Disaster Management Action
Sendai Framework for Disaster Risk Reduction
State Disaster Management Project

National Emergency Operation Committee

(1) and (2) are correct 1S QUESTION AND ANSWER ARE TO BE PLACED BEFORE

(2) and (4) are correct

THE EXPERT COMMITTEE FOR FINAL DECISION
@& 3aerstl wnon silen.. e wasBnmmes

(3) and (4) are correct ey @i eller (peir eneudem UL, e seng.

(1) and (4) are correct

Answer not known

Epeumeuenaspiles sflurer Blevan erg 7

(1
(2)

(3)
@

(A)
(B)
(C)
(D)
(E)

SDMA - vnfled Gufiei Cuendrand Qeudurd

SFDRER — GufiLfr  sumugess  @eplusbpstear  Gedrimd
&L anioiiL

SDMFP - wnfles GufiLr Guardreang 8. b

NEOC - Ggélu sieusy pLeuigbenss &g

(1) wimd (2) &

(2) whpin (4) &M

(3) whmd (4) &l

(1) wibgun (4) &

eflen Glsflwelldens

GSTZAM2025
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71. Name one of the cyclones which wrecked havec in Tamil Nadu and

Kerala in the month of November to December 2017,

{A) Vardah

() Maarutha

(E) Answer not known

2017 peubut whgnh wFbuT wrshseld s@pprl oo Gapermedld

Cupflea ghuBsdu epracide QUi Ebla@s.
(A)  euirgr
(B) g&d
(C) Pagr
(D) s

(E) eflen_ @aflweiidena

67 GST2AM/2025
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72, The title of the Brundtland report is

(A) Canng for earth

(B) Caring and sharing

69{ Our common future

(D) Environment - friendly Resource Consumption

(E) Answer not known

e evein” syhléasuiisn sene i

(A) wlew swaflligs Cemdagy

(B) saefifns Gsndrag wpphn udlieag
(C)  mug Qungeurar arflitsran

(D) sppémpea FLLY IS UG HST6

(E) sfien_ Gxflushiaama
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73.

Match Column-I with Column-II and select the correct answer using

answer codes :

Column -1
(a) DBioassay organism
(b) Accumulator species
(¢) Keystone species

(d) Exotic species

(a (b)) (o (c)
(A) 2 4 1
(B) 3 1 4

.395’432

(D) 3 2 4

(E) Answer not known

-

= b

Column — 11
Vespula germanica
Palm tree
Woodlice

Trout

GpGeflas] g GeHafesll eodr Gunmsd, ek @ fuS REanar
Lwshiu(Bigd sfwrar dhlen_enwg Cait@sfissab :

AmFieufiens — 1
(a) =ulifr ugoumbe = ulflerhisdr
(b) Syl @ﬁnméﬁh
(c) enweimd e
(d) enwamr G Eermisd

(@ b © (d
(A 2 4
(B) 3 1
(C) 4 3
(D) 3 2
() eflan Qsilwedldone

B B o =
= = b 3

&9

=

Am@Geufas - 11
@eusvLjen Glgghomefdan
Lemer LoD

) LN

CRlpert Sew

GST2AM/2025
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74. Consider the following points about a binsphere reserve?
(a) TItis the largest continuous mangrove area
(b} Tropical semi-evergreen forests
(c) Agrosystems, silviculture, pisciculture and prawn culture

(d} The largest mangal diversity in the world its core area has
been degignated as a world heritage site.

This biosphere reserve is

(A) Shankou mangrove biosphere reserve
(B} Can Gio mangrove biosphere reserve
(Cy  Gulf of mannar biosphere reserve

.&ET Sunderbans mangrove biosphere reserve

(E) Answer not known

o Qi&Carer smodn updlu Geaeumd @blysmr smpidd Qe v
g e ullidGarar sl g8 Aunmbsdng ey Cerbbshesah,

(8) @Gl& o dasbufu sGisfdés ssuy o uroy

(b)  Gadiuwar e @y usew wipr STE

(c) efleusnu simoiyse, Hovdsdst, Barauertioy, whmb @nré ey

(d}) cosereiu Bel@uiu ohsd e lfu ubsiesan whph Gl
gpefiu Ldlser o ax unnbuflu gamors wg b

e fhrEGarer snOGL eeng)

(A)  agmiCsnr sgiyfle e tsCamer &md b
(B) Gaer HCun sgiiyfe o fnaBenmer srindoib
(C)  wararrt cuspermim o wlindGarer smdy b
(D) spsrevar sgo gl o ulrsGarer sl o
(E) eflen Asfuafdama
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75, The work of laying Optical Fibre Cables (OFC) was initiated at

village of Kanyakumari District.

(A) Chinnamuttom

(B) Kodimunai

(E) Answer not known

gematlwumgof woreul L 1b Agmogdlar g sd cenuUl GHEar

LB Lieef] @urrmisiod g

(A) dlewemppiib

(B) Qamgapenen

(C)  GEdir

(D)  opssasshas

(E) &flen Glafueldama
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76. Which of the following is incorrectly paired?

(1)
(2)
(3)
(4)

Rivers

Cauvery
Thamirabharani
Vaigai

Vellar

(A) (1) and (3)
(B} (1) and (2)
(C) (3) and (2)

G @) and @)

(E)

Answer not known

Tributaries
Amaravathi
Pampar
Pechiyar
Manjalar

Hemaurelasuhpien erepe Saumns [ensrasyiL (fdreman

(1
(2)
(3)
(4)
(A)
(B)
(€
(D)
(E)

i T
& el

ST gent]

B GLIGN&

Glaudrammy

(1) opmod (3)

(1) whgub (2)

(3) whgub (2)

(3) whmb (4)
cflan Qs flwchidma
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77. Which of the following is incorrectly paired?

(1) Hindu Religious Endowment Act — 19256

(2) The Madras State Aid to Industries Act — 1923

(3) Annamalai University established — 1929

(4) E.V. Ramaswami launch the — 1930
Self Respect Movement

M {2) and (4) are not correct
(B) (2) and (3) are not correct

(C) (3) and (4) are not correct
(D} (1) and (4) are not eorrect
(E) Answer not known

Slemareuaeaniics ag geuprs Eleneumds i {§drarg 7

(1) @ig sou snHaaigap s 1b — 1925

(2) Guigren wnfle o gl Qupb Gemfdgep &0 n  — 1923

(3) emamweaw LdsmusspsD Bomiul g — 1929

(4) mGley. grusnd suoflureas Gubssanss - 1930
Cambmchiggn

(A)  (2) wehmib (4) sfwrarae Bdema
(B) (2) wpmub (3) sfwrerere @dene
(Cy  (3) whmb (4) sfhurerena E)dae
M) (1) inpgin (4) shlureraa @dama
(E) dflan Qgflweblsiana
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78, Choose the pillars that support the Hall of Testimony (Saandranmai
Mandabam) :

(i) Lowve, Shy
(i1} Delay, Tiff

(iii) Dignity, Sky
(iv) Compromise, Truth, Overview

(A) (i), (iv) are right
(B) (), (iii), (iv) ave right
@ ), (v) are right

(D) (i), (iv) are right

(E) Answer not known

STCTDIGTERLD  eTelfgl (DElTL_LGengd STmEh SIeTsdT ereal?  EETUenES
Gafia) Heis.

(1) ey, Brammn

(1)  serdsd, Hanbsn

{i1l) wrand, eumeartb

(Iv) guUra), e a@ramn, sarlammL (b

(A) (i), (iv) i Fub &
(B) (1), (iii), (iv) wiGib &
(C) (1), (iv) o b =il /
(D) (i), (iv) wr@n A
(E) dilen Qafueiovama

1
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79. Consider the following and find out the correct
statement/statements.

1

(a)

(b)

()

(d)

(A)
(B)

Evidence of a planned town, warchouse and ring wells are
found in Arikkamedu

The Cheras ruled over Kauveri delta and their capital was
uraivur

The Chola emblem was the tiger and they issued square copper
coins with images of a tiger

The Sangam Age has its roots in the Bronze Age

(a) 1s correct

(b) is correct

(27" (a) and (c) is correct

(D)
(E)

(a), (e) and (d) are correct

Answer not known

S \pdanemib sappsener ayrmihs sflurear spp/ sppiseoer GaihblsHsseyb.

(a)
(b)
(c)

(c)

(A)
(B)
(C)
(D)
(E)

gilLlliiL mame, sreflwé . Sk whne  een  SewmEdr
fiEsGinl g sande Hasiul e

Gentedr snlauf Gldlr ugdleu =y Galgent. eutsaier
SHEQGHEID B DL L0
Cemphaatiar Heemd Ll s, Seursd sl e mank Qurflis s

‘e ellane Geby mreemukisener Haeflil L miasdr

FEE srah Gaemsas srasda Bmes Camenpd Csrkiflug

(a) wHn &0
(b) woBuw &
(a) whmpib () A

(a), () wpmb (d) s
aflen GEfwuatidenw
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80, The effects of Independent Tamil Movement :

(1)

(2)

(3)
(4)

Tamil Language can maintain its traditional integrity without
the loan words from English and Sanskrit

Reclaiming chaste Tamil’s glory that was a pride of the
Sangam Period

Actively opposing the Hindi language
Avoid Hindi and accept only the English words

W (1) and (2} correct

(B} (1) and (3) correct

(C)

(2) and (4) correct

(D) (2) and (3) correct

(E)

Answer not known

paliggilp Gussgslen elenearaysdr :

(1)

(2)
(3)
(4)
(A)
(B)

(C)
(I

(E)

swodudlpan wombh syhde Qurnfssla e sallladGu 8 H0wmf
PuitisaibeGsa Hpaysd

shss sllph snggl aartis gru guilanps sl ussrEsd
Gpd Gwonfl sfissas ol G adidsd CaudufGed
At Comnfay sshil sphdagas 0l G appsQsrdnasgd

(1) whgnb (2) &f
(1) whmed (3) &f
(2) epgud (4) &A
(2) whgbd (3) &
aflenL Glaflwiesidamen
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81. Which of the following statements is/are correct?

(1)
(2)

(3)
(A)

(B)
(C)

Meetings of the Justice Party held in English only

Meetings of the Indian National Congress held in Tamil also in
order to attract common people

Dr. Muthulakshmi Reddy was elected as Deputy Speaker of
Legislature in 1927

(1) only correct
(2) only correct

(1) and (2) are correct

M (1), (2) and (3) are correct

(E)

Answer not known

Semaugmt Qempllpmisefle egiermea sflumemana 7

(1)
(2)

(3)

(A)
(B)
(C
(D)
(1)

fllss Aullar s L isdr gpidlagds o HG0 B Guhmer.
@iduCsfu sradpflen sl msdr, Quig nasmas SalHEEDETS.
Efignd pLbger.

1927 ayb ayen( Lrét opsg@ac sl Gn'y s ndmblen genem
sumprusrrad CeibdsHéscu L.

(1) wi Gub sflwrang

(2) who eflurang

(1) whmib (2) sfuneraa

(1), (2) whpns (3) sflwrenana

sflen Qafueidama
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82. Who among the following was the collector of Tanjore when

Satyagrahis marched towards Tanjore, against salt law?

(A) K. Santanam

W AJ. Rajan

(C) G. Ramachandran

(D) Selvi Durgabai

(E) Answer not known

spdurdlflast e ous sl gdive afons  sghes  Cpred GrarmGLing
Genaupuaifis wrt gerans o L gt Hugrs Gasemie
(A) & spgrem

(B) a.Cxp. grgen

(C) & yrwspdyen

(D) Qsevell miramLmd

(E) &fle Qstweiieane

1t
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83. When Madras Mahajana Sabha was started?

.{A} May 17, 1884
(B) May 26, 1884
@/ May 16, 1884
(D) May 6, 1884

(E) Answer not known

Qactrenen wsmmer senu erlGung Gamomsil’Lg?
{A) Cuw 17, 1884

(B) G 26, 1884

(C) CGuw 16, 1884

(D) Guw 6, 1884

(E) e Qesfwuehdan

= 79 GSTZAM/2025
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84.  Arrange the following Tamil Scholars in chronological order ;
(1} Mayooram Vedanayvagam Pillai
(2) Vedanayagam Sastriar
(3) Thanjavur Abraham Pandithar
(4) H.A. Krishnapillai.

(A (1), (@), (4), (3)
(B) (2), (1), (3), (4)
W @.0.@. @
D) (3, (4, (2), (1)
(E) Answer not known

Sleraumib sullipdlgsisemen aragpamiiig efloned Uik s,
(1)  rgmb Gaugpmusin @edraer

(2) Geugmnws sveudflumt

(3)  sevars gulipsmb L g6

(4} eré.ar. Smagemi@erenam

(A) (1), (2), (4), (3)
(B) (2), (1), (3), (4)
(C) (2), (1), (4). (3)
(DY (3) (1), (2), (1)
(E) eflen Qsflushidma
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85. Which of the following statements is/are true regarding the Treaty
of Bassein (1802)7

(1)

(i1)

(112)

(A)
(B}

The Treaty of Bassein was signed between Peshwa Baji Hao [1
and the British.

Peshwa agreed to cede in perpetuity to the company territories
vielding an income of 26 lakhs rupees.

Peshwa agreed to surrender the city of surat to companies.

(1) only
(1) and (1i1) only
(i) and (ii) only

\gﬂ' (1), (1) and (iii)

(E)

Answer not known

Cufler oognigses (1802) Qgm_durer Garaynih sppsefls g/ e
Fitlwirengl / sflwmanenas 2

(1)

(i1)

(iii)

(A)
(B)
(©)
()
(E)

il

Bufler  sadrigiens Gudseur Frebrimb  unglores  npmuh
il Ganmde Blarulda esbupdsreng.

Gueseur 26 e sb mumi augorand smb FrGsshsameard sbblueaiss
Brbsyons di HeLsnhss auustlsrarni.

CGusiyeun ®T4 psard sbluafiblon glive &5 guys Dsnemuni.

(i) G

(i) whpd (ill) wC G
(1) pgun (i1} wi G
(i), (i) wppun (1ii)
elflen_ (dgfwehldana
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86. V.N. Gadgil committee on policy and programmes was constituted in
the year
(A} 1978
(B) 1980
(C) 1982

.;B‘{, 1988

(E) Answer not known

Gemarens whmh Acon Ggmofurs VN, smide s e @mandsous
<@ (H)

(A) 1978

(B)y 1980

(C) 1982

(D) 1988

(E) &flen_ GaMuehdamea
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#7. Choose the correct matches among the types.

Organisation
(1) Parliament -
(2} The Union Judiciary e
(3} Directive Principles of State Policy —

(4) Public Service Commission =

(A) (1) and (3) are correct
B) (1) and (2) are correct
) (2) and (3) are correct

.,@f (3) and (4) are correct
(E}) Answer not known

Elp&seimsupila sfiwmar durmissmss ser_fls.

B EN Lo LI L SET
(1)  wrpmgEwen)h -
(2) gadu bdszeap -

(3) s afsm Gin Apflapeps Camur® -
(4) s uefwrert Gaieuramuih %

(A) (1) wdme (3) s
(B) (1) wppue (2) &
(C)  (2) wppn (3) &/
D) () whgd (4) oA
(E) dlar Gsfludaaa

Articles
124 to 147
79 to 122
36 to 51
315 to 323

oA

124 apse 147
79 apmed 122
36 apge 51
315 qpsar 323

GSTZAM/2025
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88. People in Tamil Nadu Greets Chief Minister as “Thayumanavar”
(Man who becomes Mother) for the introduction of the scheme.
(A) Breakfast in schools
(B) Vidiyal Payana Thittam
(C) Neengal Nalama
(D) Makaludan Mudalvar
(E) Answer not known
SUBBEM i b, Q@u.;&m yflpstiubsdusdsrs, apswminksany, (ndsd
sy omenteut” ererT <syen | pd &l ma.

(A) weraflude snened £ amal
THIS QUESTION AND ANSWER ARE TO AE PLACED BEFORE

THE EXPERT COMMITTEE FOR FINAL DECISION

; @& daersil wnon sflen.. ol wastnens
(B) sflguwis nweng i ib AR i e (el Fneu SELILIL. E ST

(C)  Bauser mavon
(D) wasign e gpadauf

(E) aflen g fwefdena
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89, Which of the following statements are true about Athikadavu —
Avinashi project?

(1)

(i)
(111)
(A)

(B)

9%

D)
(E)

Coimbatore, Tirupur and Erode Districts are the beneficiaries
of this project.

This project proposes to take 1.5 TMC of surplus water from
the Kalingarayan anicut in Erode District.

This project was implemented at a cost of 2456.41 crores and
irrigate 28,464 acres of farmlands in these districts.

(i) only

(i) and (iii) only
(i) and (ii) only
(ii) and (iii) only

Answer not known

Sigdlas.a-seflamdl Foib Gegrofuren Epsser.  smpREs@meT  eene
sflirenenay 7 '

(1)
(i1)

(111)

(A)
(B)
(C)
(D)
(E)

Cemuapdgrt. Smowt whpd =Gl wral dsda BAS0 L ssnd
Lreamen Ll e me.

FEmME wre L gfld o e sraldsymud seandadimbg 1.5 g.emb. 4
o ufl feny BaSC L SEDETs afiés o sCsEE8000 L.

@afc b 24B6.41  Gary wfidigd  Heuaupssgouc,
Lol (R wieulLisatler 28,464 gaat floksendsml urser B
@ uGEDS.

(1) wi(Hib

(i) s (i) o Gd
(1) whmebd (ii) wi b
(i1) whbmd (11) w G
alen,. Qg flwehldena

85 GST2AM/2025
[Turn over



a0,

GST2AM/2025 86

“Neengal Nalama” - is the scheme inaugurated by the Government

of Tamil Nadu.

(A) Intended to reduce the gap between the people and
Government

(B) Itis made up of an instrument of e-governance

(C) It focuses on ensuring that government initiatives reach the

intended heneficiaries

\;BT All of these

(E) Answer not known

EUIbETE Siperd gaums il Heren Friser meown eergit S orers)

(A) wEs@rimt - sgemsgfied  @e Cuwner  Glen Ceueflenw
(BE0 DU LIS DHLDART ST D

(B) @gdwreng Ser guEmes agib sHEELTD & HamEsOUL L STEb

(C) @sf L wreng sips Gurgipe 0L kisdr @D L aiirsgrEs D
Gardipsr ety o pdiudssddapg

(D) Eenausar B anend gD

(E) eflan (ol il wsefl dbanan
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- 91. Consider the following statements about ELCOT and choose the
correct answer:

(1)

(1i)
(111)

(iv)

ELCOT 18 remstered under the Cooperative society
Registration Act
It is partially owned by the Government of Tamil Nadu

It 1s the Nodal Agency for IT and infrastructure development
for the Government of Tamil Nadu

It was established in the year 1977

S (iii) and (iv) only correct -

(B)
(©)
(D)
(E)

(ii) and (iii) only correct
(1) and (iv) only correct
(1) and (1) only correct

Answer not known

FLll pmr(H LﬁiﬁﬁTﬂT@J sps  Hnaegder (ELCOT) fpsdm.  sppsafien
S LiuenL Bd siurer sy GCaihlsHés.

(1)

(i1)
(i11)

(1v})

(A)
(B)
(C)
(D)
(E)

Tl Foieuensmeng Sal [Himey SIS FLL gdlem &b
B (BaITESELILICL ST
Baen ugduera), $80ps srsde Denbgopewgngb

sulps  srerhssder saaud GsmfibElud  wHb SE SRS
o aTsl Lenw werisdlassnen oy Bloeuenb b

@hfmeand 1977 aub syarf e raunssiul Lgneb

(i13) wibmud (Iv) wi G efurang
(i1) whped (i1i) wi Gub sfwreang
(1) whge (V) G silurerg
(1) enhmiLh (11) wi @b sflurens
ahlenr. Qaflisildena
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92. 1TNT Hub is located at

_{[}({ Anna University

(B) Madras University
(C) Vellore Institute of Technology
(D) Madurai University

(E)  Answer not known

1ITNT gpts ——— siamnjigidreng.
(A)  asiefmenrn Lidbasnebspet

(B) Qeenenen LdsaisspE

(C) Ceugni @gmflchmi’ L Flmeuemb
(D) ingeer LdsaaEspsD

(E) Ae Ggfwueidama
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93, Match correctly the evolution of district administration with their
corresponding year.

(a) Royal commission on decentralization 1.

(b} The Indian statutory commission 2.
(¢} The Bengal local self-Government Act 3.
(d) The office of the collector 4,

(A)
(B)
(€

s 4 32

()

wresL  @rersgddr  uflemmo  aueriédeanw

@ @ @ @

2 T | 3
i -® 1 3
1 4 B )

I

Answer not known

e n(p sfluns Gummssed :

(b)
(e}
()

(a) mfsny ureianssh 1.
BEmen Tl <oy eneRT D
Eindlu FULapenD LyeneRTuiD 2.
cuRIETET £ @TEEA S0 U & ;b
nma L il S S senamelt @b 4,

()
(B)
(C)
(D)
(E)

(@) ® @ (@

2 4 1 3
4 2 2 3
1 4 3 2
3 4 2 1

aflen G fluelidama

89

1772
1885
1909
1927

e DEmmjanw

1772
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94. Identify the correct statement about the State Disaster
Management Authority of TamilNadu

(i) It is responsible for coordinating the response to disasters and
reducing risks

(1)) The chief secretary act as the chairperson for monitoring the
disaster management activities in the state

(ii]) When approving the state disaster management plan, the state
cabinet follows the guidelines provided by the National
Disaster Management Authority

Yﬂr (1) only (B) (i) and (i11) only
(C) (1) and {i1) only (D) (ii) and (i) only

(E) Answer not known

allpmn(® wrfle GuAlLl Guardran senamub upflu slurar spysaears
st s,

L)  Gunflegster efidloasan gnidoenss,  SUTULSmETS
@PoULEHE @la Gummiy

(1) sdpssdo GuilLr CGuangmmn BauduTHseaas 561 517 s gy L
saawaTas saaand blawerent Gswudhu@apri

(i) wrfle CuliLi Guaondren S gfne euyse afldwmd Gung,
Ceflw Guilit Guoerdmsw soamub aphdly  sufsn Gedsaser
winbles sennderenal Gerubndng

(A) (@) wepod B) @) oogud (i) wi G

(C) () whpo (1) wiGb (D) (1) wpgd (111) o G

(E) <o Quflueidama
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95. Which one does not include in three-tier system of local

Government?

[ﬂf} Panchayat Samiti
.(P( Grama Sabha
(C) Gram Panchayat
(D) Zila parishad

(E) Answer not known

ppenmB &g eatarmld sewniy arenpdld GatdsliuLrTs ey ag 7
(A)  ugsemugs w08

(B) #gmo senn

(C) Hgmou Lggsmuss

D) wwn chags

(E) eflan Gsflweiisena
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96. Which of the following is correctly paired?

(1)
(2)
(3)
(4)

(A)
(B)

C. Rajagopalachari
B.P. Mandal
Morarp Desas

C.N. Annadurai

(1) and (3) are correct

(1) and (2) are correct

qﬂf (2) and (3) are correct

(D)
(E)

(1) and (4) are correct

Answer not known

Legislative Assembly
Legislative Counecil
Legislative Couneil

Legislative Council

il ey heu enaupled gl Ffluins Elenamdsiil Fieeang 7

(1)
(2)
(3)
(4)

(A
(B)
(C)
(D)
(E)

7. qrgmGsruramiaril
w4l e e
Gliorgrig Gasmi

. G168, <BH TSI G0

(1) wpgiid (3) sflunaneen
(1) whmb (2) sfhurarens
(2) wpgub (3) sfwmerency
(1) womd (4) sfwreraea

aflanL. Gaflwefldens

GET2ZAM/2025
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97, Mateh the following and choose the correct option given below.

Union Minister Funection
category
(@) Cabinet Minister 1. Does not work under a Cabinet
Minister
(b) Minister of state 2. Pretend and participates in every
with independent meeting of the cabinet
charge

(c) Minister of state 3. Works under a (Cabinet Minister
(d) Deputy Minister 4. Does not have independent charge of
any department
(8 (b @€
w2 1 a4
(B) 3 4 1
(C) 4 3 2
m 1 2 3
(E) Answer not known

e = B DO

Epasremiufin Ll yudsmart HurpsSls sfvimear sllen_anwg Garey Qals.

il <sienLDEE Ll el
ELIEEE
(a) mi@wésT & 1. @at Srrgris seofsfla Spo el
Ljflusom L
() pail Gorssraiw 2, S@agy eoossreae miLgdab sabg
WS D ERLIFET Glamen(h Lk Gup Geusr(fid
(c) wddlu sepinssi 3. st @i senwdst Epo vemi il
| e (R
(d) Glenewr mennssh 4. Paniet sl SaorsTe@iw  FenmEdr
SES&ELUL DTS

(ay () (e} (d)
(A) 2 $° vl
(B) 3 4 1
(C) 4 3 2
D) 1 2 3
(E) &flen Gsflweilceas

e = DD B2
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98. Choose the incorrect one from the given below.

(1)

(2)

(3)

(4)

(A)

(©)
(E)

Fundamental freedoms guaranteed by Article 19 are
automatically suspended during emergency.

The President has the power to suspend few rights under

Article 358,

Some of the fundamental rights are available only to citizen of
India.

The Parliament has power to grant fundamental rights to

persons serving in the armed forces,

(1) only (B) (2)only

(3) only @-)* {4) only

Answer not known

Epsaar ahns seupren gereang Cuireay Sewiuan

(1)

(2)

(3)
(4)

()
(C)
(E)

GST2ZAM/2025 94

Srsannly eld 19 gpaon epdramsh  seflsslioe gues
eflmusd  sowarszo Opmés; Hoo  srosHs nennsGeu
Ehent Hlmid s LR,

sosawoiy  dd  359-8p  da  efavswer QelBnss
EiUTEE SO (hEE FsnTis e drarg,

fla e flensdr @EAu Buosguds ol H0n e beh

Errggagfle veflurpib FUfsEssE Sk liumL e Aanosener QLRI
ErLmgnwernsd b flsrmb o diang,.

(1) i B (B) (2) o g

(3} i Fus (D} (4) G

ablen_ Claflsbldenes
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]

Assertion [A] : An autonomous sub-state called Meghalaya was

established 1i._ii.rii:hin the state of Assam by the
Assam Reorganisation (Meghalaya) Act 1969,

Reason [R] . The state executive and legislature can alter or

redistribute the territories of the units of the
federation if they so desire.

X [A] is true but [R] is false

(B)

Both [A] and [R] are true; and [R] is the correct explanation
of [Al '

(C) [A] is falze, [E] is true
(D} Both [A] and [R] are true, but [R] is not the correct explanation
of [A] is correct
(E) Answer not known
sapm [A] : aamb wnifrenwiy (Cuosmewn) #ib 1969 apab ssmb
wrflwsdbed Gusrawr edin senerml sl gaen wrElah
Hlmgeui L g, '
arperd [R] @ wrfe Sl fgmep woppd  slowetmb  elgmbiSlermd
miLaoidar  swgsaiar  felugdew  wrhmeamb
Sjreog WwmyLIETa) GEliwsemb,
(A) [A] st spammés [R] seug
(B) [A] wpmod [R] @ren@h =0, wims [R] [Algsmenr  eflwnen
chilemdmnms b
(€) [A] g [R] o
(D [A] woms [R] @rpesGn of; apera [R], [Alssrar  sflwnen
cslendsidom eranug &
(E) efen Gsilwefichona

a5 GST2AM/2025
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100. Which of the following statements are correct with respect to
“Ohjective resolution” of the Indian Constitution?

(1} The author of this resolution was Dr.B.R. Ambedkar

(2) It was adopted by the constituent assembly on
January 22, 1947,

(3) The goal of this resolution was to declare India as a sovereign,
Bocialist, Democratic Republic.

(4) This resclution was later framed as the preamble of the Indian

Constitution.
(A) (1) and (3) \l-‘!{ (2) and (4)
(C) (1) and (4) (D} (1) and (2)

(E)  Answer not known

By spflueaonde “gHsGendr fiorend” Gsmiiunsl  Gevamn
spmisatle ag sfluneng ?

(1) Eibss Enonengeng eripflwet Dr.B.R, sunCugsr.

(2) @a geafl 22, 1947 sep ardue Hienu seuurnd & b
GlEmaraTLL L g).

(3) @rfuree: GepurEreinydtar, Crrsdls, MEEMUES (B LITETE
siafliuGs Esbiormsder @dlsGararmgib.

(4) @sdrorens Gt @y erduoensinben LT T

Sl i e LS LI L g,
(&) (1) wogud (3) (B) (2) wppb (4)
(C) (1) ohgod (4) () (1) wigu (2)

(E) sflen_ Qgfwchbens
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LES -, — Qurg piarambla) LHHID LGSSHle:

Part-B — General Intelligence and Reasoning

aflemnéser : 101-140
Questions : 101-140

101. Choose the best alternative as the answer.
A factory always has
{A) Electricity (B) Chimney
‘AC) Workers (D) Files
(E) Answer not known
\Asksfiunar oy sen_snwd Caiay Glals.
gE Gsmfibsreranid ertG@uripgED Bimoug)
(A) HsmsTmib (B) yesGunsd
(C)  CamBemariss (D) CGamiyser
(E) eflene @aflueiidaa
102, The total number of digits used in numbering the pages of a book
having 366 pages is
(A) 732 ) 990
(C) 1098 (D) 1305
(E) Answer not known
366 Lsshsdr Qsram_ g usssidldr  udshusener  eTelmgmieydd
LweTUBEsIUED Sunks Basstsala cdnaflitas aduera?
(A) 732 (B) 990
(C) 1098 (D) 1305
(E) aflen @afiahlaena
1: a7 GEST2AM/2025
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103. §=fF2*KST75#8PLVS@aMUESTQGC93&TY

Which of the following is exactly in the middle of ninth from left end

and fifteenth from right end in the above arrangement?
(A) #

O s
C) P
(b) L
(E) Answer not known
geiupsfldlmbs  gaugrag wolniddmbs ufmepsrag, G
Breng g whHuier wdag oy
d=fF2*KST5H#EPLVSaMUEGTQGO3&TY
(A) #
By $
cy P
D L

(E) dflenr Gafuchdama

GST2ZAM/2025 98 =



104,

A dog runs 50 feet towards South and turns to left runs 20 feet and
turns to left runs 7 feet and apain turns to left runs 6 feet and then
turns to right runs 15 feet and finally turns to right and runs 5 feet.
Now which direction is the dog facing?

V{ﬂu} East (B) North

(C) South (D) West

(E) - Answer not known

@ prurerm Gabe Hew Cordd 50 s gk ggw Yo Glm yob
Aopind 20 e ginb ghdpg denfn @ug upd Smb@ 7 s gmb gigu
GpE. Brg ypd Spwd 6 s s @Edpy. Sarfh eag ypb Smpdd
16 g gand gaw dpg @oélurs suag yoo Segdd 5 g gmb @EEDS.
SPSLTE Sibs Bl enbs Hens Eonkdl GnEEL

(A) dpss (B) aud

(C) Gsps (D) Guops

(E) eflen Gaflweidena

105. If A is 50 m north east of B, B is 50 m north west of C, then C is In
which direction of A?
(A) North (B} North west
‘/C) South (D) South west
(E) Answer not known
A sam B &s w dyss fasdad 50 f smifens B meg C &5
i Ciopg Sesla 50 8 gmsdlgd Geodar A &5 aps Hevsudld
C Bimszn?
(A) e s (B) au G
(C) Ogpe (D) QserGinhe
(E)  eflam_ Glasfwshcvansn
I: 99 GET2ANM/2025
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106. Seven executives P, Q, R, 8, T. U and W reach office in a particular
sequence. U reaches immediately before P but does not immediately
follow 5. R is the last one to reach office. T follows immediately after
P and is subsequently followed by W. Who ranks fourth in the

sequence of reaching office?

Ay W
(B) U
cy T

v P
(E)

Answer not known

aqip frardser P, @, R, 8 T, U woge W @ aflasds
SigausEns e darpart. U, P-&s apan el equrs Qsdpen fpn,
Send S-ou eLewuts’  GQatsrrefldme. R srér  selfluns
s@ewsims s fnni. T aavanr P-ago Gpg 96 Qem_idlprt wibmith
W areriiaur T-eow e Qamndlenmni, eranCay, BIGHSTEUSNE BIE) 6 IEE S

BiEwL_fhGeaiff wimiy
VI

(By U
< T
Dy P
(E) dilan Qgflushdens

L]
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107. According to a code language, words in capital letters in Column I
are written in small letters in Column II. The letters in Column 11
are jumbled up. Decode the language and choose the correct code for
the word given as questions.

Coldmn I Column II
(@i CROWDY (a) bhlooppv
(iil) SOUND (b) jkgotv

(1) CRUX (c) ijktv
(iv) CRONY (d) 1kmop
(v) NET (e) ejmv
(vi) ADDRESS (f) ahi
Find the cade for NEET
(A) abbi : (B) baai
(C) biia ‘/D} ibba

(E) Answer not known
i@ Qumflbanig Gdreumd Csadlsensgl ufwallis  Sedeumb
sswean ugssaib, Column [ @& edmwr Quilu eypsde o drar Gemhedr

Column Il & Aflu ewsde esiucfeerg. Column 11 Ga e der
aupdsisdr seaps Soarssuuc@aang. Gumfew yGsml  Gsig,
Qsrhastiuc Cadellssnar sflurean @il a g Ceipdsasab.

Columnl Column 11
() CROWDY (a) blooppv
. (iiy SOUND (b) Jkgotv

(1) CRUX (c) 1ktv
(iv) CRONY (d) ikmop
(vi NET (e) cjmv

(viy ADDRESS () ah
NEET&@é sfiwrar gduiiiem & s Bluiab.
(A) abbi (B) baai

(C) biia (D) 1bba
(E) eflen Gafludidea

s 101 GSTZAM/2025
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108, Choose the number group which is different from others.
(A) 71, 7,3,17 (B} 87,71,3,6

(C) 41,5, 3, 47 "/fb] 37, 14, 19, 7
(E) Anawer not known

Epsargnd aansaild Capule aar Gupoa Tugs.
A T, 7.8, 17 (B) 67,71,3,5
(C) 41,5,3,47 (Dy 37,14,19,7

(E) . dfien Bsfuaiidemea

109. Choose that set of numbers from the four alternative sets, that is
similar to the given set : (81, 77, 69)
A} (B6, 52, 44) (B) (64, 61, 53)
(C) (75, 71, 60) (D) (92, 88, 79)

(E) Answer not known

£Cy Qarfssuu’ Garer Usmglyseia, (81, 77, 69) aearguh Gangindps
Elenamurenenss GarEblEhas

(A) (56, 52, 44) (B) (64, 61, 53)
(C) (75, 71, 60) (D} (92, 88, 79
(E) dlar Gefludaaa
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110. In the following questions, select a figure from amongst the four

alternatives, which when placed in the blank space fig(X) would
complete the pattern.

?7 | X

(A) ;El (B)
(© é? ! A’)

(E) Answer not known

] oY

Geraumd Gmaraflubidy, mrang wrbpsefs Bmbs 2medoss Carbblaz®sg
aenquLh (X8 = drar Qaugpfl Sang Hlyrage.

EOG\J
Q‘?

e

(A)

(€) EE ‘ ()

(E) dflen @aflusilasna

(B)

e]lo%

= 108 - GST2AM/2026
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111. From the optiong, choose the correct “water-image” of the fig (X).

E S

(X)

vd @ o @
(€ @: (D) %@7

(E) Answer not known

Hetraugmih eflenmailay, @b Gupperer wib (X)-an sflurer frdinusass

Gaiey el

(X)

(E)  eflen Qgfluiafiaena

(A)

GSTZAM/2025 104 -



112. Choose from the options the correct mirror image of the given figure.

A
(A) A (B) A
(€) é (D}: ?

THIS QUESTION AND ANSWER ARE TO BE PLACE D REFORE
THE EXPERT COMMITTEE FOR FINAL DECISTON

(E) Answer not known

GBI e o 6 (WO FTISU BB LILIL, B STHTE

Gan(pdsUl L UL gSler sfluner semarmg. b srars.

A
(A) A (B) é
(€) é () ?

(E) dflen. Qafludideaa

= 105 GST2AM/2025
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113. Statement: Smoking is one of those human weaknesses which

tend to test the will power of the smoker to the edge.

Conclusion: I. Tt is very difficult for the smokers to give up

(A)
(B)
(C)

v

(E)

Sa iy

Wig@y :

(A)
(B)
(C)
(D)
(E)

smoking even if they want to do so.
II. Human beings have other weaknesses as well.

If only eonclusion I follows
If only conclusion IT follows
If neither I nor IT follows
If both T and II follows |

Answor not known

s  Higlivg  wellsafler  Losfenh @b, i@ qsueller
garamb Ysans Garglagh.

L yes Gglueisgiés oatrses almo@emgd o
ailpeugy Wsah Sganb.

1.  weligtaesse Goup Ao vardarsamn o e,

apigay L &
gy 11 &/
wga) [-b e [-b sia

apiya) I, IT &f)

siffen Gafwslidaa
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114, Which word of the options cannot be formed using the letters of the

f::;]_lmving word
ENDEAVORS
\A} VOTE
(B) ROSE
(C) END
(D) DONE
(E} Answer not known

Geraymbt Gerpselle 'ENDEAVORS edap Cembdldl ewisseiaimss

B (Heunds pigung Demd ergl
(A) VOTE

(B) ROSE

(Cy END

(D) DONE

(E) efen. Gsiflweldane:

= 107 . GST2AM/2025
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115. These guestions are based on the following information :
(1) ‘A x B means ‘A is Mother of B
(i) ‘A+ B means‘Ais Son of B
In B xJ + P, how is B related to P?
{(A) Mother

(B) Uncle

vﬂg} Wife

(1Y) Daughter

(E) Answer not known
Blbs Gadreflser Wemaynd saaubsaa SuliuaLLTsES Uesram aal
(1) ‘AxB sdug ‘A adaug B e gmi’

(i) ‘A+ B aénug ‘A aarug B Ber haen’

Bxd+Pa B adug P- e e erssaurn Gamoija wg?
(A gmis

(B) iomom

(C) weneuat]

(DY  waen

(E) aflar Qafiwuetidenas
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116. Find out the right option for conclusions to the statements given.

Statements : All candles are lamps

All lamps are bulbs

Conclugions : 1. All candles are bulbs

)

(B)
(C)
()
(E)

I1. All bulbs are candles

Only I follows

Only 11 follows

Both 1 and 11 follows
Neither I nor 11 follows

Answer not known

QsipssiucL  Sfsmesedr  puyasesssrer  slluraer  dlGBluges
saor fhiaeyb.

xflsenssar :  erdven GuoppEaitsfaenh dlas@EsdT JuED

erdveom sdendEsienh Wlarellard@adr Sy b

apuaysar L adar Quoyeeanidegnn Sedmebladgsd 550

(A)
(B)
(C)
(D)
(E)

1. ereveur eneilard@sEnh Qop@athgad Shsl

I wi Gib Agr_rsssss

IT we Gub Qem_rssssg

I wpgid 1 Garnissss

I wpgin 1T Qgnggssssaen
cflen_ Gailwatldeana

1049 GST2ZAM/2025
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117. Find the missing number

{A) 3
(B) 9
(C) 1

o3

(E) Answer not known

iU L Bugeng Flrtigs

(A) 3

(B) 9

€ 1

(D) 2

(B) slen GOsfucdee

]
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118,

In how many ways a committee consisting of 3 men and 5 women

can be formed from 5 men and 6 women?

(A) 18 (B) 30

V.KJ} 60 (D) 19

119.

(E) Answer not known

B ayeirsar, 6 Quensafidimis 3 gyesar, 5 Quansd Csmaie Qb Glpas
sdsenen eufasaid Cerplghssamb?

(A) 18 (B) 30

(C) 60 (D) 19

(E) eflen @aflusiidaa i

A box contains 2 white balls, 3 black balls and 4 red balls. In how
many ways can 3 balls be drawn from the box, if atleast one black
ball is to be included in the draw?

(A) 32 (B) 48

JO 64 (D) 96

(E} Answer not known

m Guligula 2 Qeudraner Flp UEHISEHD. 3 smuy By ubssEsh 4 Ssiy

B LpgsEnD s drae. GophEU D G soUY LEE Handmn 3 ubgsenen
s GaarfGuaild aisgae aamssefid seupeap aHssamd?

(A) 82 (B) 48
(C) 64 (D) 96
(E) ool Gsfwehldoans

111 GST2AM/2025
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120. In the given figure (1),(ii) are related to each other. Find the odd one,

L G () () @ (@ B Gy

ARARIREERD S IR SE: ¢

1 2 3 4
(A) 1

o

(Cy 3

(D) 4

(KE)  Answer not known

E0p Glasrfssciul @erar GGGl ey sbugsouc . @), (1) ussaia
Aunsgswpn UL Samss sarBify.

(i (i) (i) (ii) (1) (i) (i) (i)

ALARIERERE CIREE:
1 2 3 4

(A) 1

(B) 2

(C) 8

(D) 4

(E) eflen_ Qsfweflsiena
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121. A piece of ice floats on water.

(A) Often
By Sometimes
(C)y Never

\fﬁj Alwavs

(E) Answer not known

G Laflgsl g seretila blgsdng.
(A) s sbsin

(B) Ao Gpriseafic

(©) smlurgn delung

(D) eGumgib

(B} eflen Gaflwsficiena:

- F 113 GET2ZAM/2025
|Turn over



122, In a class % of the students are girls and rest are boys. If % of the

girls and % of the boys are absent, which part of the total number of

students is present?

@w I oy L.

25 100
62 50
C | § | it
() 100 ) 100

(E) Answer not known

@ euslBd e drereuirsafic g LIG#  omesTehlsd. Lﬁlé‘l £ _grareurEer

1
imemeultEdr. Sjeursafld é urh.;g;. mnmﬁﬁ'l.s@;-.m E LiMki, LT BT 6L .5 (T LD

waralls aureildeaa aalld adaeeray LkE wrararsdr (Boys and Girls)
Ligirarils aubs/amanant 7

17 T
A) — |1
(A) 55 (B) o0
62 50
e E gl
© 100 ) 100
(E} alilen_ 'Dﬁ-lﬂl,uﬁﬁ' BUENED
123. Choose the correct alternative
ab___ __ _baa ahb
(A) asaaa \Kg} aabaa
(C) aabab (D) baabb
(E) Answer not known
sflwrer wrhen Catey Hals.
ab_ _ baas ab
(A) aaaaa (B) aabaa
(C) aabab (D)) baabb

(E) e Gsfushldema
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124. Study the diagram below and identify the region representing youth
who are unemploved but not educated.

&
(N
%7

Employed

Youth Educated

\A{} 2 only

(B 6.7

(C) 2,5,8

(D) 5.8

(E) Answer not known

£Cyp ecdver m@ruLgost ugdgm umtdg, Gfd Caeelodans agerrd
vy sang Genangteenend @ilEEl ugfous sam fluanh.

(@) e amigs e Uk gauiraer
Gﬂuﬂﬂ:l_ﬂq.urm
(A} 2 bl
(B 6,7
{C) 2,58
(DY) 5.8
(E) eflen Qsfwaiideana
= 115 GST2AM/2025
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1256. The following question is based on a dice numbered 1 to 6 in

different ways as indicated.

If 2 is opposite to 3 and adjacent to 4 and 6 then which of the
following statements is necessarily true?

(A) 1 is opposite to 5

(B} 4isopposite to 6

(C) 415 adjacent to 2 and 6

A 1 1s adjacent to 2 and 3

(E) Answer not known

1 gpser 6 away sarafl_Luc Rén g useLaws smidd Csran(
sflep_wiah.

o 2, 3 &g afiflgud. 4 wpph 6 &g smdgd GEuGdr Epssan
snhpEEer ag My

(A) 1, 5 & adfild EBmémo

(B) 4,5 &g afifi @ramn

(C) 4, 2 &b 6 s ymdle @mEen

(M) 1, 2 &mh 3 s ndla Gmsmn

(E) il Gefuefima
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126, If A is B's gister, C ies B's mother, D iz C's father and E 18 D's
mother, then how 15 A related to D7

m Grand Daughter (B) Daughter
(C) Aunt (D) Father
(E) Answer not known

A eemuait Biflar sGanafl, C ererueur Buller gmai, D aeruei Clean ghas
whpin E edéuar D@ar gmi. dpe A eemuer D oelen erdeummy

Glsr e wieur?
(A) Gugd (B) wser
(€) mgeng (D) sheng

(E) eflen Gsfwehldens

127. Pointing towards a woman, Raj said “She is the daughter of my
wife's gister”. How is the wife of Raj related to the woman?

(C) Sister
(D) Mother
(E} Answer not known

sain Quamanard Smlly, T “eudt aelt werenalluler slsngfullan e srend
sl grgg ererueuifld wenemall s OGlUSTEISE enan 2 pa) 7

(&) fgg

(B) waen

(C) =Csrsf

D) zmiy

(E) &hlen Glgfiweldanc

" 117 GST2AM/2025
[Turn over



128. In a certain code language, ‘481° means ‘Sky in blue’, ‘246" means
‘Bea in deep’ and ‘698" means ‘Sea looks blue'. What number is the

code for ‘looks'?

(A) 4 (B) 6

© 8 D) 9

(E) Answer not known

@ @EHodC e il ® Qumflila ‘481 edmprd ‘wrenb S, ‘246’
eremmre) ‘sLeh yporeng’ indmuh ‘698 erarpnd ‘sLd feorer Carhpl’ srdmy
Eflsalu’ e, ‘Canppidparer Had @S H Quwmnl sdrar s

(A) 4 (B) &
(C) 8 (Dy 9
(E) efler @sfwefldena

129, Choose the odd one out :

(A) AEHL (B) BFJN
(C) HLPT (D) MQVZ
(E)  Answer not known THIS QUESTION AND ANSWER ARE 1O BE PLACED BEFORE

THE EXPERT COMMITTEE FOR FINAL DECISION
, ! 1.} @& tmersil wnmoo oflen. Bmiel waslnnns
CaygulL gamps Coihlshies |  assmi suesden e madsdio e dms.
(A) AEHL (B) BFJN
(C) HLPT (D) MQVZ

(E) aflen Qsfweldana
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130. The same relationship obtain in one of the 4 alternative given

below :

Evaporation : Cloud : Rain

(A) Sneezing: Cough : Cold
-,,({} Arcident : Injury : Pain

(C) Tanning : Leather ; Purse

(D) Bud : Flower :.Fragram:re

(E) Answer not known

Speflinge : Guosid : wanp

B @eanse Guraasioner Gaemus CalEos04s :
(A) b : Gewd : sof

(B) eaflugs : smub : audl

(C) Gunér usafBed : Gend : Lewlienu

(D) Gorc @ - wef : EEnamTiD

(E) eflen Gaflweiiciana

- 118 GST2AM/2025
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131, Choose the best alternative as the answer :

Which one of the following is always found in Bravery?

vﬂ(]’ Courage

(B)

(€

(D)

(E)

Experiences

Power

Knowledge

Answer not known

Dlesetlwmar wrbhm clleo s Cara| blalas,

afirdm L dr Gewdu@ueadl b Ebtaratr aibpdr g smammio G

@
®)
(©
(D)

(E)

gl

<SR A

#&4

siflay

dilan Bgtlwueildema
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132. Which figure in the option is embedded in the pattern given in

figure (X)?
I
17
(X)
=1
(A) i® (B) lTEl

w6 E (D)

(E) Answer not known

Qampssdiuc Herar (X) usdd ards o haub enmbgerang ?

-
X)

=H
=

(A) (B)

o |k o

(E) sflen_ Gasfwisildana

1

121 GSTZAM/ 2025

[Turn over



133. Study the following arrangement carefully and answer the question

given

RD15E%K3J19P8#A 2B EMEW@N4aT*TFH

How many such consonants are there in the above arrangement,

each of which is immediately preceded by a symbol and immediately

followed by a number?

(A)

R
(C)
(D)
(E)

One
Two
Three
Four

Answer not known

8Cy QanBastuc L Gan s seansns Linss daralns e wvaiss.

RD15E%K3J19P8#AZBSEM6WaN4a T*7FH

Cop@fiinliiie  Qzmfia  @ildBise paamd SGEssns  adrgub
BimE@omn egsaan Hiodilbupsased o dratan s

(A)
(B)
(C)
(D)
(E)

ol

Sirear(p

e

el g,

aflen Bz Mucldenas
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134, Statement: ‘We follow some of the best and effective teaching

learning practices used by leading institutes all over
the world - A statement of a professor of
M.N. Institute.

Conclusion : I. The M.N. Institute i3 one of the leading institutes
of the world,
II. Whatever iz being followed by world’s leading
institutes will definitely be good and useful.
(A} If only conclusion | follows
VEB') If enly conclusion [T follows
(C) If either I or 11 follows
(D} If both I and 11 follows
(E) Answer not known
ampp :  mrdsdr fle gpepwrar, sflurer umib sHGEGD SbDdsmar,
e add edrer Quily fpeaisels Bombs Ligksd shIEdCpmb
- M.N. Institute Professor.
apey t I M.N. fimeuans e wda o der g Hobs Blneuend.
II. sadd sda ddpps Apasmsds s Sgdgh mhoma;
EelEUEnaUSHET THELD, LILIGT & dTamenauseyD B,
(A apwey 1 ol G A
(B) qpigay IT i Gub
(C) ppwey 1 ey I1 =M
(D) qpyey T wppb 1T &
(E) &flen @sflwehicena
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135. This question iz based on the following information :
A# B means A is divided by B
A * B meana A is multiplied by B
Salary of Ram is (A) 80% of salary of Ravi is (B),

Find out the right choice to present it :

(A) A=(100#80)*B

(B) A=80#100#B
O A=(80#100)+ B
(D) A=80+100+B

(E) Answer not known

Bliss Gadrell Gemaumd saudsmer sl unss Cerdrig :

A#B aarug A ausgsa B

ﬁ*BﬂmuﬂﬁQu@&m B

b erebrueuflen augmwrend (A) reflulldan aumurengfla (B) 80%,

shlwrer Garera sem s

(A) A=(1D0#B0)* B
(B) A=80#100#B
(C) A={(80#100)*B
(I} A=80+100+8
(E) eflen Qefluafidena

ST2AM/2025 124

1T



136. Fill in the blanks with a suitable figure from the option given

/\ ?
() O vAb) Q
© D) O

(E) Answer not known

dAFLULL BLidd sfumar L flemamdl § Finyys

R PAN ?
(A) O (B) Q
() (D) O

(E) eflen GQaflwedanas

m
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137. Statement : Nuclear power cannot make a country secure.

Courses of Action

I :  Weshould stop further increasing our nuclear power
[T : Weshould destroy out nuclear capability

IIT :  We should focus on improving diplomatic relations

(A) Only I follows
(B) Only IT follows
v{'d Only I follows
(D) Both I and 11 follows

(E) Answer not known

sabm : sigm sAdund BErlgdr Urgarlel B mends (DI UL
plaubasiia Gunds

I 1 pus sgmssdaw Cogib sfafiuams Boss Caans b,
I sgnssfoow syfda Gousinfib
oI  grgrs 2 pasaa Cobu@iseuds saemb Hegnas Geuamiih

(A) pLemsems | w G s
(B) peugsmas I we o s
(C} pLamgsems I o @in )
D) prewsms 1 wppio IT A
(E) aflen Glaflwecans
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138. Find the missing number

38 2186

(A) 4
(B) 9
(C) 49

J& 16

(E) Answer not known
ﬂ{EJIL.LI‘_I_ S deng Hlyliys

36 216

(A) 4

(B) 9

(C) 49

(D) 16

(E) &fen Gafluschicoanas
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139, January 1, 2007 was Monday. What day of the week lies on
January 1, 20087

(A) Monday wﬁf Tuesday
(C) Wednesday (D) Sunday

(E) Answer not known

gararfl 1, 2007 Sms Spew aefle geaaf 1, 2008 ada dgaowuns

AT
(A) Srasidypewn (B} Qedsauridlipan
(C)  yzerdlipano (D) @wnfposdioemn

(E) aflen efuaidaa

140. If 1= January of year 2020 is Thursday then what day of the week
lies on 1# January 20217

(A) Monday (B) Wednesday
(C) Friday vﬁf} Saturday

(E) Answer not known

2020 gevaufl 1 b Gafl eflumpsfpenn aafld 2021 geaf apshd prar

ETEITGH ﬂhpmm'?
(A Swser (B} v
(C) Gleugrer (D) #af

(E) edfleor Gefudldea
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LES-Q — Qungis WP

Part-C — General Tamil

sflemmszer : 141-200

Questions : 141-200

141.

142,

145.

Qrupds o QemfléEilu sfure Qummeaea oty dacous Gafla
FIE

fa) = 1. Qsremenp

b)) & 2.  wrenen

(e) e 3. pemeR

(dy pn 4.  Lufl

@ @® @ @
g2 . 4 3
(M) 5 % 1 1
@ 3 -2 4 1

2

N T

(E) dilen EDsfiwehlseem

edl Gaupurdig sfurar Qurmenas Gsis,

Card, Gamp, Gamdr

(&) ouby, Geaobeng, sby (B) Qxnfoy, euerbd, aflgprisd
{ﬂ;’ BHNS, EUPEIPLIL], Bl LDl (D) Agsid, woenar. LipEwm
(E) eflen Ggflwatidoana

gl Caugum_flgs sfwurar Gurnpaas Cais.

ehlwimpid, sflwirenn

(A) GQuflwg, smoGsmi @(urr-_hq. Lyebl

(C) Gy, gefl (D) 2 witey, Geuslm_ig ey
(E) eflen Qeflwchidoena
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144. “Aesthetician” - erdmy pyidles Gerdadihe Crymar gullipsand

(A) mewses =plsmart

(C)  Benrssmeanst
(E) ofler Qaflwehlsions

(B) Gsrddiwidm yiieimant
W <B4 [ ST T T

145, Henpsarpn Glar_mos Gara) G,

(A) et @l wargsssred GQunlued Qeigndr
(B) i Geunt gwel wanssssral Qurfius Cedsrer
@" i Feunt @pell wenflgssanat Qurdlud Gsigrea

(D) wi Geunt @yell wafltsssnad Quriiug Gsingmdr
(E) eflen Qafusiidama

146. wiys Glendsaer’) dummiss :

(a)
(b)
(c)
(d)

()

(B)
SO
(D)
(E)

ahlen fg e
erall

L T

i)

4 3

1.
2.
3.
4,
(e} (d)
4 2
1 4
2 1
1 2

eflenL Glgilwaidiana
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147,

erdlnEGendena setrL_ s :
GEarmir
(A)

\}Qf GEL_rfr

(E) el Qsfluaiidma

LB BT

148, ‘msang’ — aeugear enflnsblare

149,

150.

1]

(A} aflaans
(C) wenurg
(E) eflen Qgflwehlabens

s Espsis:

dedorial L (Bidsl L (Beerar

M Eaih + &S0 + DeTaTen
(C) =ew + C(Dés + Ll [Perarar

(E) sflen_ Gsflwstdana

S8 s (psas:

umsmhamii

(A) ursh + smi

M LTS + S46 + S

(E) sflen_ Qaflwefldena

131

(B) Qammpri
(D) Geugmoypmms

(B) Gppng

w’dﬂgumrrgj

(B)
(D)

s@nE_{[Es + UL (Henaren

sl (DEs + UL + o erarew

(B)
(D)

LImEen + &mi

L + G HRITIL
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151. “euryp Gadeflneafa - Cesmidsedr

cuety BeudBeniowim
cremgnih s bilenes eripdluicu

(A)  umgdlgreen
(B) suyress salgnt . eusmaflwcium
(C)  umpwimn

\E{ sdflwefl Gséls ellzmusn Gdrenen
(E) el Qaflwaidoenas

152, GQurmsgs :
(a) yeoaun £k 1. Gu.d Caugnlsrumasr
(b) spsme msiHuc 2. m&&h
(€) Ewssons snssm 3. fan smEiprsdar
(d) #£HCever wemant 4. & GleusTenereumyenrelr

@ M @ @
(4 4° 8§ 1

(B) 3 4 2

2 4

(D 2 3 4
(E) eflen Gsflweidena

= L3 = b3

158, ‘syenmueman’ eemguib mreller affun — sdnfs.

(A) Sgusihsedr (B) eveuropsss

T e peore D) nGyr( mpenian
(E) efla Gsfweidems
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154. “erfiigs Lesmw Geargmu SumpCs

156.

156,

sdldas smar — eranudld @UbGupb Aurse

(A) eafr sy Caflpgsd '{B}" Safliomb srLnsed Bédena
(C) epamy ves@sfds semsuns (D) eauf flab = ¢ Gandésonm
(E) &flen BaMushlaenea

“Leolfld seuenyl yaean Bafige

Leoufls seurdGas yaemb — Bour agsd 2 emidgih wup@omd.

(A) geumer ger aurwind Gla@in

{ﬁ]’ umbSear srd umbuBluyh

(C) medlijas sdamnota syawub
(D) fepEib §i supbung

(E) efien Glsfuchidana

“shfaio fdwrgrh Bl el Sawawuyh
ahdenin QuarCp e amiugmb” — Agm e w1 Lgblomy.

(A) enams @u0s0ss segurs

(B) b poenyGgan @pmi Sipssmd
(O) =6 vms @y 2 o8

(pr girelt Gurenn Slmaul B

(E) dlan Gsfuddame
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167. zasenwwindg sladslGugd Qumrgsone Gumnemeand Csmbbsps 5

(a) ey sy Gura 1. dlagsd

(b} usorigrest Gunra 2. ogd

(¢) weymbd wewoph Guma 3. mwors uflgn
(d) uvsasumerd sebm_ st Buma 4.  Benanr Iflwimenn

2) ® (@ ()
4 4 3 1

2
B 3 2 4 1
V2 3 4 1
D 2 4 1 3
(E) eflen_ Gsfussfcana

158, ‘sebumdle  gefl pere  Cure’  eramp  esumnsbsrid
smuEumnmenand SeihdsHés.
(AY  perenin (B) pry

dﬂf Seann (D) = peay
(E) eflen Qasflusldana

159, zauenind Weminseer GurmGenm® Qummsss:
(8) GiqCurens Ger L prad Cure 1. Saowsfmsss
(b) &b Lreliler miefl Brs Buma 2. Amnld
(€} weypesd srewmy LG Gure 3. euemod
(d) saCod aupssy Cura 4, g&slb

(a) M) (e (D
) 2 4 1

3
BT 2 3 4 1
(Cy 2 1 3 4
(D) 2 3 1 4
(E} efen GafMueidmea
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160. wenyp Guulignd Gpd dimanyd - @EFGEM T cadiuens eunddfbn aand
setL_fis.

(A} e ewiréd aunsdluib

(B} sflempay surddluib
W Qs eumsdun

(D) cfSeun sunddwd

(E) <o Gpfweiome

161. CGurirser pm e 1 LUTyréEdanpen. - gip dlamalenas Cars,
(A) Cumrser ereuaunm LmprdgdleTne 7
(B) Cumflen eflenamay wimgs 7
(C) [ET{EMEET ereuim e unipﬁ.ﬁsuu@@ﬁwm?

M aranal B anl L) umprésilermean
(E) afen. Qaflweddena

162. ellensGstm dlerrencs Carbllshss.

pflEmb Gegszdy Qumfd, @danss sell aupsregn, cllars i
aubhsmgh wuwirkiflGmb.

(A) @ @gubd ol erdmer Gelub?
(B) wwhisngat wry
(C) o Qegrsgdn Gian aviiy, aimib?

Cpﬂ/nmgﬁ san(h wwidlGomb 7
(E) eflen Qmflwefidiansy
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163, eblenemumeenswmupd Gluwery Qurmsss.

(a) &6Corr L. ppemaflma grmew almanurmaeasyh Gluws
(b)  aumCaenan 2. L frdenas el enamunstenarih Gl

(e} euhsmanu 3. 2 wirSlenanr afleanamumaananr b Gl

(d) eumsTenan 1, serenn mans HleamuraenermLn Gluwf

2y M (@ (@
() 8 1 4

2
JB 3 4 1 2
@z 4 3 2

4

D 2 3 1
(E) dlan Qsflwelden

164, g &EGsmgr Ol Bevar Werds@Endstar Badsand GhllUs@ELer Hunmess
(a) ek sflamen L. @wdloy e enarEdoden
(b)  aremrng Gaermmen sl emarlclwésih
() Eeahz Cufarmi 3. Bspare dlaauisn
(d} uvgss Gauar®REprer 4. effoen dlearbussd

=

(@) (b) () (d)
4 3 1 4

2
(B) 3 4 1 2
(C) 2 1 4 3

Vfﬁ] 2 4 1 3
(E) eflen Qasfiwiahlsanan

L]

165, "veprasar Gy Beamster  wrddadssanh  eurdd Genen
'wrlessard’ aaruflar @ossens gilly wrg 2
(A)  Glamfamns Quur (B) Qummerng Gluwi

(C) smaflwre Guuwu MEWIHILIGLII‘I‘.E. AT
(E) eflan @aflwehcana

TaTLI ey
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166. Qummsss

(a) Gureref 1. @gsme e o
(b) werarasl 2. Femamursd sugy Qo
(c) @peurlenL wimen 3. Glummresrre e G
(d) HeafiGamef 4. snegsréd aym Guwi

@ ® @© @
- i S TR |
(B) 3 4 2
0% ¥ 1

Dy 3 1 2
(E) &len GEflueiidena

= = D

167, Glembsmen gupiimubss Cemhbinmpmsgsed.
diimbg uiignd e eubin ysbelles qufia.
W sode dgn doss afd  aseb.
(B) caésb dlimis sulen aufler e,
(C)  emcbelich auiflel pulgb 2 susbigld oflimbsi.

(D) Amps o abmn opamh s aufler
(E) dle Gsfudda

168, Gembsme uuEguBss QeniEprignsss.
smAls Gewd sraaph saraib deflueeyb sporer = Home.
(A) shpmer Gleefluerab sraapd ebmred Sarauh Gewud s
.&Pf e hmneh Sara)b Gefluesb srwapn sporedn smdls Cevb
(©) s Qafused = prer sppren agds Geub serayd

(D} desfluereyn smdsCeud sragpb shprer Sarah e hnme
(E) &Aen Qafluctldemea
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169, "Qeaud’ erenp Geaursblamdelen eflenamunaenemry b Quwi W E

170.

171.

172.

(A) Gaudny wpsrer B Qaudrpasdn
(C)  QeupdiEumm (D) QeudHELmD
(E) efen Qpflusldaa

‘s pman’ erenp Qerdellar Goundllemd sdmfls :

@A) oo B

(C) cep (D) epsa
(E) dflen Qsflwabisdana:

&M - erggith @Erupds gun Gwomflller Qummmdr.,
(&) e (B) smim

ngn&ﬂsnd} (D) wullé
(E) sfen_ dafluafideae

siilwren Qummear gmib @Brpis e Aomflews Cate,
(A) e - mEmb (B) wn - Qgmeims.

.ﬂ?f el — Loeu(k (D) wr - Guellib
(E) efer Qefludidea
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173. @dl Gagur ity sfurar allen_eud Gefley Galis

174.

175.

(a) Qeusll 1. myfiefidrenin
(b)  Qeucall 2. ssnub

(c) Qeudrall 3 ud

(d] Qeusf 4, ApGmend

(@) M (@ (@
A) ¢ 8 2 1
(B 4 1 3 2
ﬁ 8 4 1 2
™ 3 1 2 4
(B) eflen. Qeflucildeme

Nautilus - edgnie Qerdsilar sl pslerd
(A) [ ar R (B) @mré suens

(C) Sear cwens W BAeng elans
(E)  efleL Gafluafdens

‘Aristology’ eréngpd yrudlacs Qenaellen Qummen

(A) memsaw @f" B amre & aanm
(C) seflersana (D) &1 ssene

(E) eSenL Gafliuielldemean

158
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176. spdodenpupn dem_ars CarpbdsDig aipss.

177

178,

(A) QuiggsreruQursnesnary Gurdis eagsmt Gure  Cumdmeunt
= ausdgnit

W Gunpgsrenry Gurarenar’ Wurdis eveugsmh Gurals Gurbmeurt

L_e0G&EIT

(C) Quopgsmeny Qureanenar’ Gurdig meagsmd Cumas Cunpmeuri
L EEESTT

(D) Qurggsmenqy GQurdrensr Jurdlsgl eeagsrh Cured Cumpmpeurt
o EESTT

(E) efen Qaflwelcema

Gummbsns Eeoeaniis sere fls

(A)  apewar - sigatiye (B) @ga - Qsangnf
R GO ke - Bt

(E) eflen_ Qafwelldena

\Senpwimen Gleemais s fis.

(A) ersh — wendlapsr (B) st — wremangdloGal
(C)  swadr — peir et W sl - Gpigd Fecuen

(E) &flan_ Qsflwehdens
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179, ‘Bew_penss Gsf@amnyen — Hebsrdmal Gfsdswss.

(A} Reowepas + Hafe + gupEn ’
(B)  fab + o fas + Gafld + GupGd

w’ Hleol + oL fens + eryfid + gD

(D) Favcies + BsfGanpeib

(E) <fen Gafluwieidenes

180, QgrasmuSufiear @iy geanlug  apoemaEur  Hepre  aparpluy
@hlgs#Cwr apgelicn @ bblupmed wmss Hemewrenw opseild aneubg il LMl
e & srans mre e ?

(A) sopEsres (B) miblenem

W BRI BT (D)) =scblgtgnens
(E) eflen Gafwedene

181, “orsGuor fsfar; waflur Lsar; ohsdr sarsameard supaGs Hidear
GTED S lgEEmdE o flweT wiri?

\}1’ i filien T o etaremT

senagntt. (p. Smemmbld
(C) gy wnmen
(D} mp&adnn
(E) ' sflen QzMwchdeana
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182, erppggnaert ere. @rmodimageraflar efad waLlldbsrs srélgu ssmod
ablimE euLpRaELIC L g 7

(A)  smiey prpsmed (B} ena@wimiiis

\'ﬁej FERSTLD (D) sniger prisar
(E) &flen_ Qefwebldene

183, Qunmggs :

(8) smEsid 1. @Heny

(h) o drefl 2, e psemD
() gemd 3. umby

(d) =g 4,  pmen

(@ M (@ @
A 2 3 1 4

N o (R R S

(C) 4 2 3 1

D)y 2 4 3 1
(E) eflen Qaflueliiena

184. upGuwmfluieser flermay Gais.
sumpdimgt GlaGE gL

(A)  esllGagmen '(Br eunuSl Cavgmein

(C)  wendGergmen (D) eamearsdGagmen
(E)  efen Qsflueidana
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185,

186.

187,

"Gusyshl Gumbessunt ysdart Guurpesrt’ [@eieuguild @ 1bduhmdnen

CLomenen s

(A) @ Gorenes (B) @umfluy Gurarer

(C) Cupsgeuns Guraer .\,GBT apohm Guwmenen

(E) dfler Qgflwefldeame

whnend sLiehlerde gidlGarer pryewbs
wrnengslp yflhs srer — @aGsm_reefla @Uibbugh GCuremend Garhsenams
Setir L[l

(A)  wreards t dflend — BrremiG
B) @rapsdip - ufigs

(€) @ragpdp - pror

\}B}/ EhnenssL cllendE — @mansulip

(E) &l Glg flwehlebeney

@afiay eremiiufeug snflugl WwDN-eno

fleon ereniu@eug wesm Gmr syflumenio
Eour e igsafle GonGtlogn Baw s derpaenens s s

(A) Gefley — Henp (B) flenp — il

() GQeflay - worsenn \a})/ DD TSt — aifiluiranis
(E) el Qaflwelidens
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188. Epssr_aubmer Speflaar amsdunb ag?
(A)  eudr sehmianer
(B) meudr semEeugsrer
(C) =enzs san( aubg LomeRTel

\ﬂﬁ Eleudr &metm Sigsmer
(E) eflenr Qlafluelldana

189, Glummhsrs Gerdenars sam s,
(A) GeraflEmer (B) GaroGuel

-{ﬂf GandlCpen (D) GergGaen
(E) eflen. Qsfludidme

190. "symen erery ULLGr Bldampsens - Blé@memg erdisuens eursdunb 2
(A) se cllavan (B) dp aflenan
\{ﬂr Qewdur { «flaver (D) Gewdheear sunddub
(E) cflen Qaflushldeane

191, eréisuens aunddluih erand SerCli(pgs,
flefl upsanss Clansds feanp.
(A) Gawd sursdlun (B) Gpeliener eursdlwnh
M Qadsdl aunsfiin (D) aflenipey surédiuib
E) el Gafueidome
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192, dunmsss :

(&)
(b)
(c)
(el)

G LI S|
Glasmphg mULant

Qumgs smlkss)
S Gludsg

(a) (b (e

(A) 2 4 1

\(«sz 3 4
¢ 1 .3
;.= 3 A

(E) eflenr Qaflwchdoena

(d)

3
1
4
4

@

uerLimg Gl
BILcumg QUi
Slanamuimg Gl

SMEOEUN(S, AT |

193, Capmens eiemer ghEbbumps  sedrewn,  gpeaieand £l flujin
GQuwissnend s ibs WurmhEss ;

(a)
(b)
(e)
(d)

(L Tt

Ll

LI L

fi
@ ) (0

A 2 3 4
@f g 1 4
€ 58 1 2
® 3 4 1
(E) sflen Qaflicheoenss

(d)

B o QO

i

145
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GrE
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194, ‘SpGsred’ ey erebauenal Quwid 7
(A) @u@uwr
(B) Gsmfptluws
(C) sra@uuir

M Gulga i Lialer s Gk
(E) eflen Qsfwaildame

195. =ier auflensulls Gemhaamen Frtledise:
(A) @god, snfsmon, Qepsdlp, eraCampet
JBT s fds b, mrisnn, Qekssp, QeraGampeul
(C) Qepmfp, snAdsn b, AsraCompent, @kisoib
(D) QerdGaympeut, Claggllp, sn fisa ib, (& LoD
(E) often Qafluiafldens

196. a1 wllenslivg Gerhamars STGaligd
(A) Qserenar, gianfl, Gariy, Hamarey
(B) menfl, Sawewen, Ggerencn, Ggm i
glammemen, i, Caenenen, Glamiig
(D) Qariis. Ceereer, siefl. Hemenme

(E) eflen Cgfluwehidhana

197, “aiy"” erengd GaunsQendaler dlmerussh sam fs
(A)  abipis (B) dipsgeumen

7 eipim D) aippsrer
(B) dfle Qsfweilshana

198. “aunp” eenm GeauisQenadlar elenenapbans e fls.

UH’ quTLps (B) anmpsee
(C)  aumpng (D) aumpr
(B) dlor Qeflusaass
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199, Gumrigs -

200.

(a)
(b)
()

el s Puw
cllrg opmGlLwt

TGN GRT ) TG <& LI

(d) srflwsung Guw
fa) () () (@D

(A) 4 1 3 2
a4 3 1 2

w8 4 E - B

(D) 2 3 4 1

(E} &flan Qpflueliaens

AUT(REES

(a) yafl Ee men

(by =mi <04 11 5 T T

(c)
(d)

Y
(B)

(©)
(D)
(E)

SIPILSD (PTRID

s L (5) ST L ensui

(@ (b)) (@ ()
Fa 1 4 2
8 47 1 2
¥ 3 & 1
4. A A1V Z

éflan @yMwsildena

B

g e e

147

&M euchl&slammg)
erer Slenpii s Gl Lg
Ljefl Flerpmatn

BT aubSE

APLDIDY S LIWi
EmEluw@rm_ G gl o
@m0y LEELW

e UDES ST
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PAPER - 11
This guestion booklet contains

Part-A - General Studies (Degree Standard), Part-B - General Intelligence and

Reasoning and Part-C - General Tamil (SSLC Standard)

Duration : Three Hours] [Total Marks : 300

Read the following instructions carefully before you begin to answer the guestions.

=1

14

IMPORTANT INSTRUCTIONS

Yau will be eupplied with thie question booklet 16 minutes prior 4o the commencement of the examination.
Thiz questicnn boaklot contains 200 questions. ¥You ghould not remove or tear off any sheet from this
questinn hooklet.

An OME answer sheot will be supplied to you separately by the room imwvigilator to shade the answers,
Instructione regarding filling of anewers ote., which are to be followed mandstorily, sre provided in the
anewer eheot and in the memorandum of admission (Hall Tickat).

Anszwer all the questions, All questions carry equel marks,

Before shading the Guostion Booklet Series Number in the OME answer aheet and answering the questions, vou

sl chick whether all the qum_u:uu.t ire pnnt&d serially m:ui EnsElnE d:mt there are mhlan]{ p.&ge# n the- .

queatmn I:u.p'.-k.let Hw

"lnlu. must write your registar numl:w-:r m the epace pm'ln.d-n-d on I:hn bnp 'ﬂ,ghl. :m.d-n nfﬂu.: PR Dn ok i
anpthing ebae on the question hooklet,

Each questbon eomprisess five responses {answers) @ e (AL (B), (0. (I and {E). You heve to select
ONLY ONE correct. answer from (A) or (B or {Ch or (I} and shade the same in your anawer aheet. If you feel
that thers are more than one cofrect answer, shade the one which you consider the best, If' vou do not
Enow the answer, you have to mandstorily shade (E). In any case, you ehould choosee ONLY ONE
anewer for each guestion. If you shade move than one answer for & question, 1t will be trosted 85 a wrong
angwer even if one of the answers shaded by vou happens to be correct

Tou should not make any marking in the question booklet except in the space providad st the last pages of
the question booklet, which can be used for rough work. This instrection ahoold be stricth adbered to.

For guestions in 51 Noa, 1o 100 (PartA) and 101 to 1400(Part-B), Eaglish version is final,

You are not allewed to take this guestion booklet and the answer sheet out of the examination room during
the time -nf tha e:mmmallm

Trva ik

13 The Guestion Booklst Number shouald be written and the corresponding bubbles should be shaded.,
The Question Booklet Mumber shaded by the candidate in the buobble will be treated as final.
The OMRE Answer Sheet will be invalidated even if correct Question Booklet Number is written but
the babblas for Question Booklat Mumber ame aither not shaded or shadaed,

irmnrrectly

improperly

in multiple

out ol guestion booklet number series printed (e, not in renge of guestion booklet number series)

TFNAT O T I1I.1.I:|I'h1t IB‘H bl:ﬂ.ﬂh

nthier number than the one prnted i Question Booklek supphied to you

o .-’msnwrr Shest will be invalidated if other than black ink ball point pen is wsed for shading.

Desdusction of Marks .-

o If the Question Booklet Numbsr is not written or partially written in the space provided, five marks

will be dedueted from the total marks chésined by candidate.
Friahere #o omply with any of the abowe instructions will render vouw hable for sach sction as the
Comnelzsaem may decide at thedr diseretion,
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